
������������ �	�
���
��� �����
���
 �����
���
������	�����
 �����
��������
 �����������

��������� ���� !�"����#$ ��$����%�&
����' � (�(��! ���� !�����

�� �� ������	 
� �� �
����

��
��� �����������������

������� !���� � ������ ���� ��"��#�$��

%&�'��� ����'��

����( )

�� ���'����

*++,



��� �����
��� 	�
�

��
��� �� ��� ������ �� �� ������ ��� ��!!���"���#$ ����%��"&����
� 
�����"���� ��'��!�(��� ��%�) �$ �*�+��� ��%�+�� , -�"�%�+�  �%�
��.�� -�"�%�+��%
� /001� 2
 %�

������ �*�+��� ��%�+�� %�%��"&��� 
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��� ��!!���"���# � �7"���"���%# 8���
�9 
�� "����%�" ��� ��!!�.
��"���# �� :��� � ��! ��%%!������ "����%� �� ���"�9 *�%�� 
��.
%�� 
�%�6;��%# �%��" ���'!���
� " ����(�����7 %�%��!�7 %*�%&���#�
����%��"&���# � 
�����"���# *�%&�"�9 ��'��!�(��� ���!� �� �� ���.
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A�%��!� %*�%&���# � � � � � � � � � � � � � � � � � � � � � � � �
��/� 4���(������ � ������(������ %�%��!�

%*�%&���# � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
��1� 4���%��"&���� (�&�7 *�%�& " ����(�����9

%�%��!� %*�%&���# % �����"�&)��! B%��"����! � � � � � � � C
��2� A�����8���� ����%� (�&� � *�%&� %� ���*����! � � � � � � 

���� �& ����!� ����"��� �&# (�&�7 *�%�& � � � � � � � � � � � � �
���� 4���%��"&���� ��9%�"���&)��7 *�%�& � � � � � � � � � � � � ��
��C� �& ����!� ����"��� �&# ��9%�"���&)��7

*�%�& � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �/
��
� ���!�<��%�) 
���*�� � ����"���

��9%�"���&)��7 *�%�& � � � � � � � � � � � � � � � � � � � � � �2
���� ������� %�%��!� %*�%&���# � � � � � � � � � � � � � � � � � � �2
���0� ���"��%�&)��� �& ����!�

�&# ���'!���*�%
�7 �����(�9 � � � � � � � � � � � � � � � � ��
����� D%�+����%�� �!��<���# � ��&���#

�� �%��"���� %�%��!� %*�%&���# � � � � � � � � � � � � � � � �

���/� D%�+����%�� �"��*��9 ���'!���
� � � � � � � � � � � � � � � ��
���1� E&�<��%�) ���'!���*�%
�7 �& ����!�" � � � � � � � � � � � /0
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� ��� ��
/��� D ����*���� ����%��"&���# *�%�& ����#���9

%��
�9 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � /�
/�/� 4���%��"&���� (�&�7 +�� ���
�$

���'!���
� 3�� !���&65 � � � � � � � � � � � � � � � � � � � //
/�1� 4���%��"&���� (�&�7 %� ���
�!$

����&����&)��9 
�� � � � � � � � � � � � � � � � � � � � � � � /1
/�2� ����&����� ���'!���*�%
�7 �����(�9

" ����#���9 %��
� � � � � � � � � � � � � � � � � � � � � � � � � /�
/��� 4�����% � ������&����� � � � � � � � � � � � � � � � � � � � � /�
/��� ����*��� ����%��"&���� ��9%�"���&)��7 *�%�&$

���'!���
� �� ��8��%��9 � � � � � � � � � � � � � � � � � � � /

/�C� 4���%��"&���� ��9%�"���&)��7 *�%�&$

'��!�� % '�
%���"����9 ��*
�9 � � � � � � � � � � � � � � � /�
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1��� D�����&���� "���#���%�� � �%��"��� ���"�&� � � � � � � � 1�
1�/� F�'��!�(�����# !���&) G������ � � � � � � � � � � � � � � 12
1�1� H��!�&� G������� I���&� � � � � � � � � � � � � � � � � � � 1�
1�2� 4��#��� 
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � 1

1��� A"#�) !�<�� ��'��!�(�����9 �!
�%�)6

� %�����9 �&���9 
���� F�+���*��%�)

�����"���# � � � � � � � � � � � � � � � � � � � � � � � � � � � 20

1��� ����� 
�����"���# %� %<����! �� I�''!��� � � � � � � � 2�
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4���!���! ���*���# " =��9  &�"� #"&#6�%# %�����8���# !�<��
%�;��%�#!� � ���"���#!� *�%�&� "���<�6;��%# " %��%�+�7 ����%� ��.
%&����7 � �%��"��7 ���'!���*�%
�7 �& ����!�7�

���� ������ �	
��	�� � �
��	
��	���

������� ������	��

A�;��%�)� �&� ��������� "���<��!�� *�%&�!� J =�� �+%���
����
���#���� ��.�����!� ������&#�!�� " ���&�*��7 �����	�
������� ���
�
�	�� !���!���
�� ��
� " %�%��!�7 %*��� ���*���� *�%&� "���<���
!��� 
�&�*�%�"���� � %�����8���# K" (�&�7 *�%�#7 �&� ��&#7L ��!�.
�#�!� � �+M�
�� 
 ��
�����!� =��&��� J �����(��

-��"����� �&� �
���������� *�%&� J =�� "��8�## '��!� *�%&�� ���+.
7���!�# �&# � � ���+��<���# " %��+;���#7 % �%��&)��"����! �������7
�������� ���
�	 K�����!��� " ��*� �&� ��%)!�L�

� �����7 #��
�7 � ���
�"�7 %�%��!�7� �%��&)���!�7 &6�)!�� ��.
�� � �� <� *�%&�"�� ���*���� !�<�� �!��) ������ ���"���# K�+����*�.
��#L� N��*���� <� *�%&� ��"��������� �� �� �� ��"�%�� �� �+����*���# J

�
 %"�9%�"� &6+� � �+M�
�� � %!�%& &6+� � ���#��# �� ��"�%#� �� �7
���"���9�

�	
�
	�D��� � �� <� *�%&�"�� ���*���� 3�"����(��) �����(5 �!�.
�� " �����7 #��
�7 ��
�� �+����*���#$

• 3125O

• 3XII5O

• 3twelve5O

• 31100(2)5O

• 3−† =5�

4�%
�&)
� *�%�& +�%
���*�� !�� �� ���+7���!� %�%��!� ���"�&� ���.
"�&#6;�# 
��%������"��) ���"���# K�+����*���#L *�%�& ��
�����! ��.
 �&#���! %��%�+�!� ��
�� %�%��!� ���"�& ����"�6�%# ���
�	�	� ����
������ K��&�� �&# 
���
�%�� J %� %�L� -��"���� K����%)L *�%&� �+����.
��%# 
�
 (���*
� ���"���9 K���
�"L �����( �� ��+�&)8� � "���&���� �

�



��+��� P ����+�� ��!�� 
�
  ��� �� *�8�*��7 "�%�7 ���"��"�8�"���%#
 ��)
�!�.�����"�%�!� ������� � �%%����!����� � !���!���*�%
�9 %�!.
"�&�
� ���
� =��7 �����( ����"�6�%# �����	��

� ��&)��98�! ��� ��%%!������� ���&�*��7 %� %� ��! ������%# ���.
&�*��) ����%) �+����*���# � ����%) ���*���# K�� �� �;� ���� �+����*�.
���L *�%&�� 4��+&�!� " ��!� *�� 3�%��%�"����!5 ���"����! ���*���#
�&# ��% #"&#��%# ���"���� ��%#��*�� � ����%��"&���# *�%&� �� ��%%
�!
#��
� �&� " �����(�����9 ����%� ���+%
�!� (�'��!�� 4�=��!�� *��+�
��+�<��) �"�%!�%&����%��� ����%) *�%&� +���� ��"��)%# " 
�"�*
�7� �
+�� 
�"�*�
 +���� ����%�"��)%# "���<���# � '��!�&�� "�*�%&#6;��
*�%&�"�� ���*���#�

�%� ���'!���*�%
�� �����(�� % *�%&�!� ������&��� ��� ���*���#.
!�� ��=��!� ���*���# �7 ����&)����" ��"�������� ����%���&)�� %� %��
" 
�����7 ������ �� �!����� � �& �+���*�%
�7 '��!�&�7 +�
"� ����.
!����7 ��
<� ����%��"&#6� ���*���#� ��=��!� '��!�&� ��"������.
�� ����%���&)�� %� %� 4��
��*�%
�� "�*�%&���&)��� �& ����!� '��.
!�&���6�%# �&# (�'��"�7 ����%��"&���9 *�%�&O ��� !�����&���6�
(�'��!� � "���6� ����&)��� " (�'��"�! "���O ��=��!� ��� #"&#6�%#
%� %�.��"�%�!�!��

���� �������		�� � 	��������		�� �������

������	��

A� %� +�"�6� ����������	� � ������������	�� -�����(������ %� %�
�%����*�%
� "����
&� ���"�!� � " +�&)8��%�"� %"��! �%��"��� �� ���.
%��! %�!!���"���� 3"�%�"5 (�'�.3�����"�%�"5� �*�%�"�6;�7 " ����%�
*�%&�� ��
�"�� �����!��� ��!%
�# %� %�� " 
�����9 "�% (�'�� !�<��
+���)%# % �&6%�! �&� !���%�! K*�� ���&� �*�� ��+�"&���6  ��)
� ��
���"�6 �&� &�"�6 *�8� "�%�"L " ��"�%�!�%�� �� ����(�� �����9 (�'.
�� �� ����8���6 
 +�&�� 3�#<�&�!5� ��
�� %� %� �����+�� ��!� *�� �&#
����%� "%� +�&)8�7 *�%�& ���+���%# "%� +�&)8� (�'�.3�����"�%�"5�

A� "��!���! ������(������ %� %� +�&� �%�"��8��%�"�"��� � ���"��.
��&�%) " +�&�� ���+��� ����(������� � ����(�����9 %� %� *�%&� (�'�.
3�����"�%�"5 
���*��� � "
&�� 
�<��9 (�'�� " ���*���� *�%&� ��"�%��
�� 3"�%�5 �� ����(�� K�������L " ����%� *�%&� K��%��;� � 
�
 %�������#
'��
(�# �� ��!��� ����#��L� �& ����!� ���'!���*�%
�7 ��9%�"�9 "
����(�����7 %� %� +�&�� �� �&#��� � ���%���

��&�� ��%%!����"�6�%# "�<��98�� %"�9%�"� 
&�%%� ��
 ����"��.
!�7 ������� ����(�����7 %� %� K
 
�����! ����%��%# � �+;�����#��#

�



��%#��*��#L� �
��"�� ���!��#�!�7 " 
�����"���� � �+��+��
� ��'��.
!�(��� " ��! *�%&� " 
�!�)6����7� :��� 
&�%% ��!�*���&�� ��!� *��
" ��! �&# &6+�9 %� %� "%� �%��"��� �& ����!�� � �!����$ ��#!�9 �
�+�����9 ����"�� 3���*���� J �+����*����5� ����"�� �� ����9 %� %� "
��� �6� �& ����!� ���'!���*�%
�7 ��9%�"�9� J "���&�#6�%# �����+.
����� % ��*��%�)6 �� =&�!�������7 "�*�%&���9 ��� (�'��!�� N�����
���"��%�&)��7 %"�9%�" ���"�&#�� ������%�� ��"�%���� ��"�
� ��+���
% ��%#��*��9 %� %� �� ��� �� %�%��!�� " *�%���%��� �� �"��*��6 � 
���.
��� �9� �!�6;�� "�<��� ���*���� " ��� ��!!���"�����

���� ������
���	�� ����� ����� � �������		��

������� ������	�� � ���������	�� ��	��
	���

D+;�� %"�9%�"� "%�7 b.�*��7 ����(�����7 %� %� ������&#6�%# ����.
!����! b P ���������	 �� ��� 
������ ������&#�� 
�&�*�%�"� ���&�*��7
(�'�� ���+��!�7 �&# ����%� *�%&�� � %� %� % �%��"����! b ≤ 10 �%��&).
��6�%# ���"�� b ���+%
�7 (�'�$ �� 0 �� b−1� � %� %� % �%��"����! b > 10
�%��&)��6�%# ����&����&)��� ���
�$ �����!��� " 8�%����(�����*��9
%� %� �&# �+����*���# %&���6;�7 �� ��"#�
�9 (�'� �%��&)��6�%# &�.
���%
�� +�
"� A K*�%&�"�� ���*���� 10L� B(11)� C(12)� D(13)� E(14)�
F (15)�

��&�� *�%&� " ����(�����9 %� %� % �%��"����! b K��&�� �&# 
���
�%��
b.%� %�L ����%�"���%# %���
�9 (�'�� �+����*��!�7 ��&�� ai(0 ≤ ai < b)�
 �� i J ����
% K��!�� ����(��� �&� ����#��L (�'�� " b.�*��9 ����.
%� *�%&�O ��!���(�# ����#��" ��*�����%# % 0� % 
��(� *�%&�� %&�"�
�����"�$

3ak−1ak−2ak−3...a2a1a0(b)5. K�L

A&�"� 
 ����%� *�%&� !�<�� ����%�"��) �����*�;�� ��&�� �� "&�.
#6;�� �� � � ���*����� Q%&� ����
% ����#�� %�!�9 &�"�9 ���*�;�9
(�'�� *�%&� �%�) k− 1� �� ����%) *�%&� ����"���%# k.�������� F%
&6.
*����$ *�%&� 0 �� �!��� ���*�;�7 (�'�� �� ����%�"���%# ����9 (�'��9�
� 
��(� *�%&� ��<��! ����
%�! �
���"���%# �%��"���� %�%��!� %*�%.
&���#� �%&� ��� ��#%�� �� 
����
%���

�������

• ) �*�����+ 101010101(2) , 14357(8) , 7BAD(16), 0, 9281-

• ��. �*�����+ 123023(3) / ��� ��� �(�� "�� #, 0���1�� ���  �*�#� 3-

C



���� ����	� �	�� �
���� ����!� ����
 �� �	
��	���

�&# k.���*��9 ����%� *�%&� s =3ak−1ak−2...a1a0 (b)5 !�<�� ������.
&��) '��
(�6 �������� N(s)� %"#��"�6;�6 ����%) % *�%&�"�! ���*�.
���! %&���6;�9 '��!�&�9$

N(s) = ak−1b
k−1 + ak−2b

k−2 + ... + a2b
2 + a1b

1 + a0b
0 =

k−1∑
i=1

aib
i. K/L

� ��&�*�� �� ����%� (1) ���%) !��<���&� bi #"�� �
���"�6� 3"�%�5
����#��"� ������&#6;�7 "
&�� 
�<��9 (�'�� " ���*����� � ��%#��*.
��9 %� %� ��� ����"�6�%# ����#��!� 3�����(5� 3%����5� 3��%#*5� ��� "
�"��*��9 J 3�����(5� 3�"��
5� 3*��"���
5� 3"�%)!���
5 � �� �� ���+�
�%
&6*��) �� ���"���9 ��"�%�!�%�) �� b� " �+;�! %&�*�� bi ����"�6�
�������� i. � ����#�� b.�*�� � *�%&�� -������� "����)� *�� (�'�� ai

�
���"��� 
�&�*�%�"� ��&��7 �����( i. � ����#��� 
������ �%����%# "
*�%&� ��%&� "�*��� "%�"��!�<�� � *�%&� �����( %���8�7 ����#��"�

��� �9 "�� '��!�&� K/L ��&�*���%# ��%&���"���&)��! "���%�! b
�� %
�+
�$

N(s) = (((...((ak−1b + ak−2)b + ak−3)b... + a1)b + a0, K1L

��
��� "���� ��
���!����%�)� ���"�&#6;�# ������&��) N ��
������.
��9 '��
(��9 K% �� ��%%��9 �� �!���� �� 0L$

Nk = 0;
Ni−1 = Ni · b + ai−1,  �� i = k..1;
N(s) = N0.

K2L

N��*���� Ni ��"�� 
�&�*�%�"� ��&��7 �����( i. � ����#�� " *�%&��
��<�� ������&��) � �+�����6 
 N(s) '��
(�6 S(N, b)� "���6;�6

����%) *�%&� �� � � ���*���6 N � �%��"���6 %� %� b�

�������

• N(21011(2)3) = 1 · 23 + 0 · 22 + 1 · 21 + 1 · 20 = 8 + 2 + 1 = 11-

• N(21011(2)3) = ((1) · 2 + 0) · 2 + 1) · 2 + 1 = 11-

• N(28BAD(16)3) = 8 · 163 + 11 · 162 + 10 · 161 + 13 · 160 = 32768 + 2816 +
160 + 13 = 35757-






F!��� !�%�� %&���6;�# �����!�$
 !�" #$%�
 �
��� ���������� �	
�����
�� � �
�
 �
�	 ��&

������ '&�� ��
����%��!� �������"� *�� ��
������ *�%&� N �!��� " �����9 b.%� %�

�"� ����%�$
s1 = 3ak−1ak−2...a1a0 (b)5

�
s2 = 3ck−1ck−2...c1c0 (b)5

K�&��� "���"���� �����%�"����! �����*�;�7 ��&�9 
 +�&�� 
����.

�9 ����%�L� � �� "%� ai = ci� �� �� �� '��!�&� K/L N(s1) − N(s2) =∑k−1

i=0 (ai − ci)bi. ����%#� ��
� "��!�<��� !��<���&) b �� %
�+
�� =��
%�!!� !�<�� ����%��"��) " "��� (p · b + q)bm�  �� p� q� m J (�&���
m ≥ 0� 0 < |q| = |am− cm| < b� 4�%
�&)
� N(s1) = N(s2)� �� p · b+ q = 0�
%&���"���&)��� q = −p · b� *�� ��"��!�<��� ��
 
�
 q �� ��&��%# ��
b� 4�&�*����� �����"���*�� ��
���"��� ��"��!�<��%�) %�;�%�"�"���#
���&�*��7 ����%��"&���9 *�%&��

��"� #�!������ �������
 ��� ����� �����

-���%���%�"���� �� '��!�&� (2) "�"����%# �& ����! "�*�%&���#
*�%&�"� � ���*���# �� %�����#! *�%&� b K� � !�<�� �%��&)��"��) �&#
����"��� b.�*�� � *�%&� " 10.%� %�L�

(�)�	
�� *�+

����+ b > 0� k > 0 K*�%&� (�'�L� ��+�� aiO

N := a0O S := b KR ��
��&�"��� %�����)�

S J ���*����LO

(�
& �� i �� � �� k P �

N := N + ai · SO

S := S · bO

���(T(�
&�O

�����+ N

�& ����! A1 "���&�#�� 2k−2 �����(�9 �!��<���# � k−1 �����(�6
%&�<���#�

F� '��!�&� (4) "�"����%# ��� �9 �& ����! K%7�!� �������L�
(�)�	
�� *�+

����+ b > 0� k > 0 K*�%&� (�'�L� ��+�� aiO

�



N := ak−1O

(�
& �� i �� k P / "��� �� 0

N := N · b + ai


���(T(�
&�O

�����+ N

�& ����! A2 "���&�#�� k − 1 �����(�6 �!��<���# � k − 1 �����.
(�6 %&�<���#� ��
������ *�� !��)8� � *�%&� �����(�9 " �+;�! %&�*��
����%����*��� D+� �& ����!� ����%
�6� ��&�*�� �����*�;�7 ��&�9 "
%���8�7 ����#��7 *�%&��

D+��;���� %7�!� ������� ���� �& ����! ��&�*���# �� *�%&� � �
b.�*��9 ����%� K� � !�<�� �%��&)��"��) �&# ����"��� *�%&� �� 10.%� %�
" b.%� %�L�

(�)�	
�� *�+

����+ N ≥ 0� b > 0O
U $V 0O

(�
&

ai := N mod bO Kmod J �%����
 �� ��&���# ��(�&�L

N := N div bO Kdiv J ��&���� ��(�&�L

U $V UW�

��
� N �= 0O
X $V UO

�����+ ��+�� ai� k K*�%&� ���*�;�7 (�'�L

�& ����! A3 ��
<� "���&�#�� !���!�&)��� (k) *�%&� �����(�9 ��.
&���# K��!�*����$ ��� ���&���(�� �� !�8����! ���"�� *�%���� � �%��.
��
 !�<�� ��&�*��) ����"��!����L�

�&# ����"��� "��*��6 �� �& ����!� A3 ���� ���*������ ��&��) ��
b 3%��&+�
�!5 %��*�&� N � ����! *�%���� ���"� � ��&���#� "���� � �
�� ��� ��
� �� ��%�� ��! 0� F%
�!�# ����%) *�%&� ��&�*���%# ��%&���.
"���&)��! "���%�"����! "%�7 �%���
�" %���"� ��&�"��

4���"�� *�%&� �� b1.%� %� " b2.%� %� !�<�� "���&���) " �"� ����!�
*���� ��%#��*��6 �&� ����#!�6$ " �& ����!�7 A1 � A2 "�*�%&���#
%&����� "�%�� " b2.%� %�� � " �& ����!� A3 J " b1.%� %�

�0
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• 4 5 67, 8 5 6+ • 4 5 9:6;7, 8 5 9<+ • 4 5 6<;=>, 8 5 9=

�� � �� �� � ����� �� � ����	
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S(N, b) = 210111(2)3 S(N, b) = 24B35(16)3 S(N, b) = 226507(10)3

��$� ������
���	�� �����������	�� �����

4���%��"&���� ��9%�"���&)�� � K"�;�%�"���� �L *�%&� " �����"�&).
��9 b.%� %� ��&�*���%# �%��%�"����! �+�+;����! ���"������7 ��%%�<.
����9 �&# (�&� �� N���%) "���

al−1al−2al−3...a2a1a0.a−1a−2a−3...a−i...(b)

����%��"&#�� %!�8����6 b.�*��6 ���+) K"��!�<��� +�%
���*��6L� "

�����9 b.�*��# ��*
� �����&#�� 0.9 � −1.9 ����#�� K(�&�6 � ���+��6
*�%��L� ��%&�"�� ���*���� =��9 ���+�$

N(s) = al−1b
l−1 + ... + a0b

0 + a−1b
−1 + ... + a−ib

−i + ... =
l−1∑

i=−∞
ai · bi. K�L

Q%&� " ���+��9 *�%�� *�%&� 
���*��� *�%&� ���
�" k� �� ��<��9
����
% %�!!� ��"�� −k� ����*��6 ���+��6 *�%�) *�%&� !�<�� ��
<�
����%��"��) " "��� K%��"���� % '��!�&�9 (3)L$

Nf(s) = (a−1 + (a−2 + (a−3 + (...)/b)/b)/b)/b, K�L

*�� ���"���� 
 %&���6;�!� ��
��������!� ������&���6$

N−k−1 = 0;
N−i = (a−i + N−i+1)/b;  �� i = k, ..., 1;
Nf (s) = N−1.

KCL

���+��# *�%�) !�<�� +��) +�%
���*��9 � �������*�%
�9�

��
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• Nf (21.101(2)3) = 1 · 20 +1 · 2−1 +0 · 2−2 +1 · 2−3 = 1+0.5+0.125 = 1.625-

• Nf (20.101(2)3) = (1 + (0 + (1 + 0)/2)/2)/2 = (1 + (0 + 0.5)/2)/2 = (1 +
0.25)/2 = 0.625-

• Nf (20.01(3)3) = 1 · 3−2 = 1/9 = 0.(1)-

��%� #�!������ �������
 ��� �����������	��

�����

��9%�"���&)��� *�%&� !�<�� ����"����) " ��� �6 %�%��!� �� *�.
%�#!$ ����&)�� (�&�6 *�%�)� ����&)�� ���+��6� 4��"�9 ����&� ��!�9
�& ����! ����"��� ���
��� *�%�� �� ��%#��*��9 %� %� " &6+�6 b.%� %�
�%��"�� �� ��!� *�� (�&�# *�%�) *�%&� Nf · b (0 ≤ Nf < 1) ��"�� ���"�9
(�'�� ���+��9 *�%�� *�%&� Nf " b.�*��! ����%��"&���� K=�� "���� ��
'��!�&� K�LL � "�*�%&#�� ��
�! �+����! "%� (�'�� ���+��9 *�%�� Nf $

(�)�	
�� *,+

����+ Nf (0 ≤ Nf < 1)� b > 0O
U $V P�O

(�
&

ai := [Nf · b]O K[x] P "�#��� (�&�9 *�%�� *�%&�L

Nf := Nf · b − aiO KNf �%����%# " ��! <� ���������L

U $V UP�

��
� Nf �= 0O
X $V UO

�����+ ��+�� ai� k K*�%&� ���*�;�7 (�'�L

�& ����! A4 ���&� �*�� �& ����!� A3� �� !�<�� �� ��"��8��)%#�
�%&� ������ *�%&� �� ����%��"�!� 
���*��9 ���+)6 " b.%� %� -� ���
��
�
" �%&�"�� �
��*���# (�
&� ����&����&)�� ���"��#6�� �� ��%�� &� &� i
��
����� � �����&)�� � ���*���# K���+��!�9 ��*��%��L�

�& ����!� A4 ���+���%# k �!��<���9 K"���<���� Nf · b !�<�� "�.
*�%&#�) " (�
&� ���� ��� � 7�����) " ���!�<���*��9 ����!����9L�
D+�����9 ����"�� K"�*�%&���� ���*���#L ���+��9 *�%�� �� '��!�&�
(5) ���&� �*�� �& ����!� A1�

(�)�	
�� *�+

����+ b > 0� k ≥ 0 K*�%&� ���+��7 (�'�L� ��+�� aiO

Nf := 0O S := 1/bO KS ��
��&�"��� %�����)� Nf J ���*����L

�/



(�
& �� i �� −1 "��� �� −k

Nf := Nf + ai · SO

S := S/b


���(T(�
&�O

�����+ Nf

:��!� �& ����!� ���+���%# 2k �����(�9 �!��<���# � ��&���#� Y
��
<� k �����(�9 %&�<���#� � �� �� #"&#��%# ����!�&)��!� 4��!��##
'��!�&� (7)� ��&�*��! �& ����! "�*�%&���# Nf (s) �� %7�!� ��������
���&� �*��9 �& ����!� A2 � ���+�6;�9 k %&�<���9 � k ��&���9�

(�)�	
�� *-+
����+ b > 0� k > 0 K*�%&� (�'�L� ��+�� aiO

Nf := 0O
(�
& �� i �� −k �� P�

Nf := (ai + Nf )/b


���(T(�
&�O

�����+ Nf

4���"�� 
���*�� � ��9%�"���&)�� � *�%&� %"����%# 
 ����"��� (�.
&� � K+�� �����&���# �� (�&�6 � ���+��6 *�%��L� �%&� ��!����)� *��
*�%&� N " b.%� %�� �!�6;�� k ���+��7 (�'�� ��� �!��<���� �� bk %��.
��"��%# (�&�! K=�� �!��<���� %���"��%�"��� %�"� � ��*
� �� k ����(�9
"���"�L� �& ����! ����"��� �� b1.%� %� " b2.%� %� " =��! %&�*�� �!��� "��

(�)�	
�� *.
• ��9�� (�&�� N1 = N · bk

1 K�!��<����! �&� %�"� �! ��*
�O

• "���&���) �&# N1 ���� �� �& ����!�" A1, A2, A3O
• �����&��) ��&�*����9 ����&)��� �� bk

1 " %�%��!� b2�

�������


�%� ��! 
? 
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7

• Nf = 0.375, b = 2 • Nf = 0.1, b = 2 • s =2101.101(2)3

N−1 = 0.375 N−1 = 0.1 s1 =2101101(2)3

N−2 = 0.75 a−1 = 0 N−2 = 0.2 a−1 = 0 N(s1) = 23 · N(s)

N−3 = 0.5 a−2 = 1 N−3 = 0.4 a−2 = 0 N(s1) = 45 @
9A

N−4 = 0.0 a−3 = 1 N−4 = 0.8 a−3 = 0 N(s) = 45/8 = 5.625

N−5 = 0 N−5 = 0.6 a−4 = 1

S(Nf , b) =20.011(2)3 N−6 = N−2 a−5 = 1

S(Nf , b) =20.0(0011)(2)3

�1
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�
 "����� �����!��� �� �& ����!� A4� �� �� ��
��"��8���%# &� ���(�%% ��%�*���# (�&�9 *�%�� �� �����"�����# �*�.
�����9 ���+� �� b ��&�*����! ��&�"� � �%���
�� :�� ��"��%�&)�� ��!��
+���� &� *�%&� N · bk (�&�! �&# 
�
� �.&�+� ������&)�� � k�

D*�"����� *�� ����(����&)��� *�%&�� �� ����%��"�!�� " "��� ��.
��8���# �"�7 (�&�7� �� !� �� +��) 
���*�� ����%��"&��� �� " 
�
�9
%� %� �&# ��(����&)��7 
�������! 
���*��%�� ����%��"&���# %&�<��
%&���6;�# �����!�$
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�&# ��
�����&)%�"� ��%����*�� ��
����)� *�� ������ �%&�"�� ��".
��%�&)�� ��!�� *�� 1

q = nb−k �&# ��
�����7 (�&�7 n � k� A�;�%�"����
��
<� �%&�"�� ��%�
����!�%���

������

� �0� 123/675 ����B�� * 15C(- (-, ��� ��� 675 = 33 · 52, 15 = 3 · 5 � *(�
(�!��D����� 675 @3 � 5A *$�'E� *  �F��D���� 15G ��� �'�� *�'���, B�� 1/675 =

5 · 15−3 = 0.005(15) , .�H��!� �($�'��E ' �0� ��D� ����B��- �� D� ' �0� 0�'��
0�(����B��& * 10C(- (- � 25C(- (-, *  �F��D���� �(��*���E ���� #$ ��� 3-

�&# ���
��*�%
� � ��� ��!!���"���# % �%��&)��"����! !�8����9
���'!���
� "�<�� %&��%�"�� �� =��9 �����!�$ ���+) 1

10 �� �!��� 
�.
��*�� � ����%��"&���# " �"��*��9 %� %� A&���"���&)��� +�&)8��%�"� 
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Q%&� �%��"���# �"�7 %� %� b1 � b2 %"#���� %�����8����! b2 = bm
1 �&#

��
����� � ������&)�� � m� �� ����"�� *�%&� �� ����9 %� %� " ��� �6
!�<�� "���&���) ���;�� ��
�� %� %� ����"�6�%# ���
��	��
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� "&�"� � "���"�
K��+�"�" ��� ��7"��
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0...ak︸ ︷︷ ︸ ... aim+m−1...aim︸ ︷︷ ︸ ... am−1...a0︸ ︷︷ ︸ . a−m+m−1...a−m+0︸ ︷︷ ︸ ... a−jm+m−1...ajm+0︸ ︷︷ ︸,

A′
k ... Ai ... A0 . A−1 ... A−j

����! ��
<� % ��������! %&� ��!�� " '��!�&� (5) K��� %����<�� !��.
<���&) b1 " %������� ��"��9 ����
%� (�'��L� "���%�! �� %
�+
� ��

�<��9  ����� i �+;�9 !��<���&) Kbim

1 = (bm
1 )i = bi

2L � �+����*�! �&#

�<��9  �����

Ai = aim+m−1b
m−1
1 + aim+m−2b

m−2
1 + ... + aim+1b

1
1 + aimb0

1. K
L

�� �� ���*���� �%7���� � *�%&� !�<�� +��) ����%��"&��� " "���
N(s′) = Ak′ · bk′

2 + ... + Ai · bi
2 + ... + A0 · b0

2 + A−1 · b−1
2 ...A−j · b−j

2 ..., *��
�� ������&���6 %�"������ %� ���*����! ����%� �� � <� *�%&� " b2.%� %�
@ (�'��!� Ai� �%&� ��!����)� *�� Ai ��9%�"���&)�� !� �� �����!��)
"%� ���*���# �� 0 �� bm

1 − 1 = b2 − 1.
F��
� ��
������ *�� ����"�� (�&� � �&� ���+�� � *�%&� " 
�����6

%�%��!� % +�&)8�! �%��"����! !�<�� +��) "���&��� +�� ���!�<���*.
�� � "�*�%&���# ���*���# K�&� ����"��� " 10.%� %�L +�&�� ���%��! �&.
 ����!�!�

(�)�	
�� *4+
����+ b1 > 0� b2 = bm

1 � b1.����%��"&���� *�%&�O
• ���+��) *�%&� ��  ����� �� m (�'�� ��*���# �� ��*
�� " �+�

%������ K�%&� " 
��9��7  �����7 (�'� !��)8� m� ��+�"��) �����*�;��
��&�$ " (�&�9 *�%�� %������� " ���+��9 %����LO

• ��!����) 
�<��6  ����� b2.(�'��9 �� '��!�&� K
L �&� ��+&�(�O
�����+ b2.����%��"&���� �%7���� � *�%&��

���&� �*��� ��%%�<����# �+�%��"�"�6� � �& ����! �+����� � ��.
��"����

(�)�	
�� *5+
����+ b1 > 0� b2 = bm

1 � b2.����%��"&���� *�%&�O
• ��!����) 
�<��6 b2.(�'�� (���*
�9 �� m b1.(�'� �� '��!�&� K
L

�&� ��+&�(�O
• ��+��%��) �����*�;�� ��&� %&�"� � %���"�O
�����+ b1.����%��"&���� �%7���� � *�%&��
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b1 = 2, b2 = 16 = 24, b3 = 8 = 23

��0��"# .� ���'� �*��

b1 → b2

0000(2) = 0(16) 0100(2) = 4(16) 1000(2) = 8(16) 1100(2) = C(16)

0001(2) = 1(16) 0101(2) = 5(16) 1001(2) = 9(16) 1101(2) = D(16)

0010(2) = 2(16) 0110(2) = 6(16) 1010(2) = A(16) 1110(2) = E(16)

0011(2) = 3(16) 0111(2) = 7(16) 1011(2) = B(16) 1111(2) = F(16)

b1 → b3

000(2) = 0(8) 100(2) = (48)

001(2) = 1(8) 101(2) = 5(8)

010(2) = 2(8) 110(2) = 6(8)

011(2) = 3(8) 111(2) = 7(8)

)� �*�'

1 7 2 5 7 5 0 . 5 2 2 5 5 4(8)

001 111 010 101 111 101 000.101 010 010 101 101 100

1111010101111101000.1010100101011011(2)

0111 1010 1011 1110 1000.1010 1001 0101 1011

7 A B E 8 . A 9 5 B(16)
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*�%&� " ��%#��*��� ����!�� "���&���) %��*�&� ��"�8���� �%��"���#�
%
�<�!� �� 16$ �&# ����"��� *�%&� " 10.%� %� �� 16.%� %� ���+���%# "*��"���
!��)8� =&�!�������7 �����(�9 %&�<���# � �!��<���# K��&���#L� *��
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�& ����!� �&# ���'!���*�%
�7 �����(�9 %&�<���#� "�*�����#� �!��.
<���# � ��&���# K" ��! *�%&�� ��"�%���� �;� % ��*�&)��9 8
�&� "�.
*�%&���# 3%��&+�
�!5L #"&#6�%# ��	������	�� ����!� *�� �������6�
"7����!�� "�7����!� � ���!�<���*��!� �����!� 
�
 %���
�!� %�!.
"�&�" K���
�"L� A�!"�&)��� "�*�%&���# #"&#6�%# ���	�����	� " ��!
%!�%&�� *�� !�����&���6� ��&)
� ���
�!�� �� �+��;�#%) 
 �7 ���*�.
��#! K%!�%&�L� �
�
����������� K��"&�*����L �� %!�%&� �����7 ���.
&�*��9 ������� � ���%���� �& ����!� " ���!���7 *�%�� %�!"�&)��7
����+����"���9 #"&#��%# ����! �� �%��"��7 !�����" ��� ��!!���"�.
��# �+��+��
� �����7 �����"�&)��9 �������� 4�
�<�! =�� �� ���!���
�& ����!�� ���"�&#6;� � %
&���"��) �"� (�&�7 �&� ��9%�"���&)��7
*�%&� 3%��&+�
�!5 " ��%#��*��9 %�%��!��

(�)�	
�� *�6+
����$ �"� %���
� (�'�� ����%��"&#6;�� %&� ��!��O ����(��
• "���"��"����$ ��%��&�<��) %&� ��!�� ���� ��� ��� �! " �����.

"�&)��! ���#�
� ��
� *��+� ����#�� % �����
�"�! "�%�! ��7���&�%)
��� ��� ��� �!O �%&� 
�
��.�� *�%&� 
���*� ��� �7 %&�"� �&� %���"��
����&���) � � ��&#!�O

• ��*�&)��� �%����"
�$ �+��&��) (�'�� ������%� " %&���6;�9 ���.
�#�O �%����"��) ����&)��� ��"��! ��%��9 %���
�O

• ���� �� ��
�;�!� ����#�� �� !&��8� � �� %���8� �$ ������&��)
%�!!� ������%� � (�'� " %��&+(� ��
�;� � ����#�� *�%�&O !&��8�6
(�'�� %�!!� ����%��) " ��
�;�9 ����#� ����&)����� %���8�6 J " ��.
����%O ������������

• �
��*����$ �%&� ������% �� ��"�� 0� ����%��) ������% " ��*�&�
����&)����O

�����$ %���
�� ����%��"&#6;�# ����&)����

Q���%�"����� !�%�� " =��! �& ����!��  �� ���%��%�"��� �+��;����

 ���*���#! (�'��"�7 %�!"�&�"� J =�� ������#���� %&�<���� " (�
.
&�� ��9%�"���&)��� �� ���� � &�8) "��� ���
�" 3/5 � 315 ��&)�# ��.
"&�*) ��'��!�(�6� *�� ����&)����! �7 %&�<���# +���� ���
 3�5� :��
%"�����# !�<��� �����)� �����!��� �"�!# ��+&�(�!� %&�<���#$ " ��.
��9 �&# 
�<��9 ���� (�'� ����%��) !&��8�6 (�'�� ����&)����� "
��� �9 J (�'�� ������%� K305 �&� 3�5LO �%*����" ��
�! �+����! "%�
��!�� �*�%&����� %&�*��� !�<�� ��!����) �����(�6 %&�<���# ���*�.
��9 �����(��9 "�+��
� ���
� �� ��+&�(�� KN��*�"�# " ���%�"� ��+&�(�
�!��<���#� !� ��%����&� ��
<��L ���+� �*�%�) %&�<���� % ������%�!�
!�<�� ��"�%�� �"� ���� ��+&�( �&� ����%��) " 
�<��6 
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� �� �"�
(�'���
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�����) ���"�� ��9%�"�� " (�
&� !�<�� ��!����) ��
�!$ ������&��)
�� ��+&�( %&�<���# �� ������%� � �"�! (�'��! " ��
�;�! ����#�� %&�.
 ��!�7 (�'�� ����&)���� � ������%�� � �� �& ����!� �%*����� "%#
��
�+��;���� 
 ���*���#! (�'��

�& ����! A10 ��!�*���&�� ��!� *�� ���!���! 
 �����"�&)��9 ����.
(�����9 %� %� ��� %���"��%�"�6;�9 ��!��� ��+&�( %&�<���#� -�������
�+�+;��) �& ����! A10 �&# ����"��!���� � %&�<���# ��%
�&)
�7 *�.
%�&� � ��
<� ���&� �*��!� ��%%�<����#!� ��
����)� *�� �& ����!�
"�*�%&���# 3%��&+�
�!5 �&# "�*�����#� �!��<���# � ��&���# ���.
"��%�&)�� ���!���!� 
 �����"�&)��9 %� %� ��� ��!��� %���"��%�"�6;�7
��+&�(�

�������
��D� . �*�'��� ��0��"� '�E � ��B��& (- (- @* (��0��$ ���F��  �F������

�.� �"��, �(�� 0#� ('���� .� ���(A+

(��D����@( .� ���(�!A .� ���( (��D���E �!��D����
I = 9 6 II = 9 6 J = 9 6
= =@9A 9@6A 6@=A = = = =@9A = = = =
9 9@6A 6@=A =@9A 9 = =@9A 9 9 = 9 6
6 6@=A =@9A 9@6A 6 =@9A 9 9 6 = 6 99
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 ��	��
	�� ������� ������	��

� b.%� %� *�%&� b "%� �� �!��� ����%��"&���� 310(b)5� �!��<���� ��
b %"����%# ���%�� 
 ����%�"���6 0 %���"� 
 (�&�!� *�%&� �&� K*�� ��
<�L� %�"� �! b.�*��9 ��*
� �� ���� ����#� "���"�� D+�����$ ��&����
�� b ��"��%�&)�� %�"� � ��*
� �� ���� ����#� "&�"� �&� ��+��%�"���6
!&��8�9 (�'�� (�&� � *�%&� J ��� ��&���� ��(�&��

���&� �*�� *�%&� bk "%� �� ����%��"&#��%# �����(�9 % k ��&#!��
� �!��<���� K��&����L �� bk %"����%# 
 %�"� � ��*
� �� k ����(�9
"���"� K"&�"�L� D%���
�! �� ��&���# (�&� � *�%&� ��(�&� �� bk #"&#��%#
*�%&�� %�%��"&����� �� k !&��8�7 (�'�� ��+�"&���� k ��&�9 %���"� �

�




��+��%�"���� k !&��8�7 (�'� !�<�� ��%%!����"��) 
�
 �"� ��"��
�����(�� ����	�
�������� ������ �� k ����(�9�

����� /��
�		���� �����	�� 
��.����)�

�"��*��# %�%��!� ���!�*���&)�� %���� ���*�7 ����(�����7 %� %�
�%��&)��"����! !���!�&)�� � 
�&�*�%�"� (�'� J �"�7� ���*�! �%�.
+����7 J 0 � 1� 4�� %�7������� "%�7 �+;�7 %"�9%�" ����(�����7 %� %�
�"��*��# �!��� �#� ������%��7 �%�+����%��9�

��+&�(� %&�<���#� ������%� ��� %&�<���� � �!��<���# " �"��*��9
%� %� �!�6� %&���6;�9 "��$

W 0 � WW 0 � Z 0 �
0 0 � 0 0 0 0 0 0
� � 0 � 0 � � 0 �

Q%&� %���%��"��) ��&6 &� �*�%
�6 3&�<)5� � �����(� J 3�%��.
��5� �� ��+&�(� %&�<���# %�"����� % ��+&�(�9 ���*���9 �&# &� �*�.
%
�9 �����(�� 3�%
&6*�6;�� �&�5 K
�����6 ��=��!� �;� ����"�6�
3%&�<����! �� !���&6 /5L� � ��+&�(� �!��<���# � ������%� ��� %&�.
<���� J % �����(��9 3�5� -� =��! %�"������� �����(����� �%��"���
%7�!��# ���&���(�# " 
�!�)6����7 ������#���9 �"��*��9 ���'!���.

� % ��!�;)6 ���!���"��7 &� �*�%
�7 =&�!����" K"����&�9L� ���.
 �# ���&� �# J 3!���!�
%��#5$ �������� "����)� *�� ab = min(a, b)�
� a + b = min(a, b) + max(a, b).
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 �!��<���� &6+� � *�%&� �� 0 �&� 1 ���"��&)���
�!��<���� 3%��&+�
�!5 !�� ����*��7 *�%�& " �"��*��9 %� %� ���&���.
��%# ��&)
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N������ ��!#�� �� 7������� *�%�& � "��!��� �� "���&����� �����.
(�9 % ��!� ��"�%#�� �*�"����� �� �&��� ����%� *�%&� " (�'��7 ��+�*�9
%�%��!� %*�%&���#� �&# �������9 b.%� %� %&���6;�� "�&�*���$ kN J
�&��� ����%� K������&)�� �L *�%&� N � Nk J !�
%�!�&)��� ������&).
��� *�%&�� ����%�"��!�� k (�'��!�� %"#���� %�����8���#!�$

kN = [logbN ] + 1, %'� [x] − ���0���1�� "����, �� . �*#1�KL�� x;
Nk = bk − 1.

@:A

���7��� �(��
� �&# ���!��� ����&)���� ���'!���*�%
�9 �����(��
��� ����9 (�&�7 *�%�& N1 � N2 K��%�) N1 ≥ N2L ��
�"�$ �&# %&�<���#
� "�*�����# J kN1 +1� �&# �!��<���# J kN1 +kN2 � �&# ��&���# J kN1

K��
 
�
 N2 ≥ 1L�
�&# ������&���# "��!��� �%��&����# �& ����!� ���+���%# ��*���

������ "��!��� �%��&����# 
�<��9 =&�!�������9 �����(��� D���
�
%�9*�% ��% ������%��� ��&)
� �(��
� ���#�
� ��%�� =�� � "��!���� 
�

'��
(�# T (k)� �&# *� � ��%����*�� %*����) �&���&)��%�) 
�<��9 ���.
��(�� �&� '�� !���� �& ����!�� �� ��"�%#;�7 �� k� ��
�����9 ��"�%�.
��9 
��%�����9� -����!��� "��!# "���&����# =&�!�������7 ������#�.
��7 �����(�9 %&�<���#� �!��<���# � ��� ��� "�+��� �� ��+&�(�! #"��
�� ��"�%�� �� �&��� �%7����7 *�%�&�

�& ����!� %&�<���# %����<�� ���� ���7�� �� "%�! ����#��! *�%.
&�� ���*�! 
�<��9 ����#� �+��+���"���%# �� +�&�� ���� � ����� 4�.
=��!� "��!# ��+��� �& ����!� %&�<���# &���9�� �� k$ T����(k) ∼ k.
�& ����!� �!��<���# � ��&���# "���&�#6� %&�<���� � "�*������
��%
�&)
� ��� K�� +�&��� *�! kL� %� %�"� �! �� ���� ����(�6� ��
 
�

"��!# %&�<���# &���9��� "��!# �!��<���# � ��&���# 
"������*�� ��
k$ T��� ∼ k2� T���(k) ∼ k2.

� %�%��!�7 
�!��� 
�!�)6����" �%�) 
�!���� ���� %&�<���# �
�!��<���#� 
������ ��+���6� �� % ����&)��!� �"��*��!� (�'��!�
K+���!�L� � %  �����!� (�'� %���� K+�9��!�� %&�"�!�LO ��� �+�*��
��%%!����"�6�%# 
�
 =&�!��������� 4��"������� "�8� �(��
� %�7��.
�#6� %"�6 %�&�� �%&� ��!����) +���"�6 %� %� 
�����9 �9 K%� %�����)6

�����%�� ��"��9 �&��� %&�"�L� D+�*��� �%&� ��*) �� ���� � ���&���.
(�� %��(��&)��7 �& ����!�" ��=&�!�������7 "�*�%&���9 �&� !�� �.
����#���9 ���'!���
� K�&# *�%�&� ����!�6;�7 ��%
�&)
� !�8����7
%&�"L� �� �&��� *�%�& � "��!# "���&����# ��� ��!� �����(�����7
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�7 ��9%�"�9 %*���6� ��%��#���!��
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���!�7 �� �&��� ����%� *�%&� �� ��
&���"�&�%) ��
�
�7 � ����*�.
��9$ 
�&�*�%�"� (�'� %&�"� � %���"� �� ��*
� !� &� +��) %
�&) � ����
+�&)8�! K�� 
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*�%&�!�!�L� 4�� "�*�%&���#7 3�� +�!�<
�5 �� "����
��� ���+&�! %
�"�&�*����! ����#���%�� *�%�&$ ��<��� (�'�� "%� �� !�<�� ����.
%��)� � !�8����9 ��!#�� �� ����%) *�%&� ��
&���"�6�%# � ����*�.
��# �� �&���� ��.�� *� � ��� "�*�%&���#7 !� �� "����
��) ��
�� %�.
���(��� 
�
 ������&����� � �����# ��*��%��� D%�+����%�� 	�������
����	�
���� ��%%!����"��!�9 " =��! �����&�� %"#���� %� %"�9%�"�!�
���&�*��7 '��!���" 
�����"���# *�%�& " ����#���9 %��
� � ���+�.
6� ���"�&)��9 �� �����(�� ���(�%%� "�*�%&���9 % �*���! "��!�<��7
�8�+�
 � !���!���(�� �� ��8��%���

��
 � ���<��� �%&� �� � �"����� ����� "%� ����&)���� "���� �&#
�����"�&)��9 %� %� K+�� ���*����# �%��"���#L� 7��# " ���"�6 �*����)
�������!�"�6�%# �"��*��# %� %�� 
������ �9 � ��%#��*��#� ����%��"&#.
6;�� ���
��*�%
�9 ������%�

���� /!�
	���	�� ������
���	�� ����� �
����	��

���)��

4�!#�) 
�!�)6����� ��"���!�6 �&# 7������# *�%&� �&� ��� � �
=&�!���� �����7 " *�%&�"�! 
���� ���+�� ���%��) !���&)6 ���������
��
�� J !�%%�"� K&���9��9 ��+&�(�L b.�*��7 ����#��"� �!�6;� � ��.
%��#���� ���	�� k � ���	�
� ������&#6;�9 %!�%& ����&)��7 ����#.
��"� �%� ����(�� K����#��L ����#���9 %��
� ��&<�� +��) ����&����

�
�!�.�� ����%��!�!� (�'��!�� �� �� ��!#�) �� !�<�� ��%��"��)�

>��!�� ����#���9 %��
� �+�*�� ��"�� �&� 
����� ���!��� !���.
!�&)��9 ����%��!�9 #*�9
� ��!#�� K!�8���� � %&�"�L � ���!��� !�.
��!�&)��9 ���(�� �����7� �+��+���"��!�9 ����9 
�!����9 ���(�%%�.
��� :�� 
��%����� ������&#6�%# ��7���
����9 ���(�%%��� � 
�&�*�.
%�"�! ����#��"� 
������ !� �� ������"��)%# ����"��!���� �� ���(�%.
%��� 
 ��!#�� �&� �+����� �� %�%��!��9 !� �%���&� K8���L �����7�
� +�&)8��%�"� 
�!�)6����" =�� �����(� 
����� � +�9�� K
 �"��*��!
����#��!L�
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H��!�� ����#���9 %��
� � ���"�&� "���&����# ���'!���*�%
�7
�����(�9 ������&#6�%# ��7���
����9 ���(�%%���� A�"��!����� ���.
(�%%��� �!�6� ��+����) % ����#���!� %��
�!�� ���&�*�6;�!�%# ��
���!��� � '��!��� K�����!��� �&# ��9%�"���&)��7 � (�&�7 *�%�&� %�
���
�! � +��� % ��������9 � �"�9��9 ��*��%�)6L� � #��
�7 ��� ��!!�.
��"���# !�����&���"���� *�%&�!� ����� � '��!��� ���&�����%# *����
���&�*��� �������� 
��� �������

���� ������
���	�� ����� 
�� �	
)
�


��.����)
 2�� ���0�34

����&) 
���������� �����  !"#$%"&' $"(&%&)* ���%�"��� ����%��".
&���� ������(���&)�� � (�&�*�%&���� � ��������� [0...Nmax] " %��
�
����#���%�� k� � ����%� *�%&� ����%
�6�%# ��&)
� k ����#��" (�&�9
*�%��O (�'��� "����
�6;�� " ����&)���� �����(�9 " ���*�7 ����#��7�
��%�
�6�%#� ��&�� 
����
�� *�%&� ����%�"�6�%# ��&#!� %&�"��

>���#�� *�%&� ��!���6�%# %���"� ��&�"�$ %�!�9 ���"�9� 0.9 ���.
�#�� ����"���%# 	�����	� %�!�9 &�"�9� k − 1.9� J �
����	�

�������
5 k = 6 0
9 = 9 9 = 9

9=99=9
4 k = 5 0
= = = 9 9

99
6 k = 7 0
9 9 9 9 = 9 9

/////19=9999M=9999=99 @�(�B����A

��
 %&����� �� '��!�&� (9)� !�
%�!�&)��� ����%��"�!�� " b.�*��9
k.����#���9 %��
� *�%&� Nmax(k, b) ��"�� bk−1 � ����%�"���%# k (�'��.
!� 3b− 15� 4��+�"&���� 
 =��!� *�%&� �����(� ���"���� 
 �+��&���6
"%�7 ���*�;�7 ����#��" � ������%� 1 " k.9 ����#�� 
�����9 �%�
���%#�
4�=��!� 3%&���6;�!5 *�%&�! �� !�
%�!�&)��! +���� %��"� 0�

�%��!��!� *�� "�+��
� k !&��8�7 (�'� b.�*�� � *�%&� N ��"��.
%�&)�� "�#��6 �%���
� Q �� ��&���# N �� bk� ��"��#�� *�� N +�����	� %
Q �� 	��,�- bk� *�� ����%�"���%# 
�
 N = Q(mod bk) K���!�� 3!���&)5
���%) ��
�
 �� %"#��� % �����!����9 �����(��9 ��+��%�"���# ���
�L�
���<�%�"� *�%�&� %��"��!�7 % Q �� !���&6 bk� J =�� "%� *�%&� "���

//



Q+n ·bk�  �� n J �����"�&)��� (�&��� �%� ��� �!�6� " k.����#���9 %��.

� �����
�"�� ����%��"&����� 4�=��!� "�#��� �%���
� �� !���&6 ��"��.
%�&)�� ���"�����6 �%7���� � *�%&� " �����"�& [0...bk−1] ���+�"&����!
�&� "�*������! "�&�*��� !���&# ��
������ *�%&� ���� D���(���&)���
*�%&�� 
�����7 ��� " +�����
�"�9 ���'!���
�� ���"��#�%# =��9 �����.
(��9 
 ��&�<���&)��![

�������

• 153 = 1(mod 8)

• −7 = 9(mod 16)

• 7 = 7(mod 16)

• 7 + 3 = 2(mod 8)

• 5 · 5 = 9(mod 16)

• Nmax(8, 2) = 28 − 1 = 255(211111111(2)3A

• Nmax(4, 16) = 164 − 1 = 65535(2FFFF(16)3)

������
�"�� ����%��"&���� �%��&)����%# �&# 
�����"���# ����%�"
#*��
 ��!#��� %*��*�
�"� ����
%�" !�%%�"�"� =&�!����" ����*�%&���#
� ��� �9 ��'��!�(��� 
������!�9 *�%&�!� ������&)�� � �#���

���� ������
���	�� ����� �� �	
)���

�����	�����	�� )��

����&) �������� �����  #$%"&' $"(&%&)* ���%�"��� ����%��"&���� (�.
&�*�%&���� � ��������� [Nmin...Nmax] " %��
� ����#���%�� k� A���8�9
K&�"�9L ����#� 
������� ���
 *�%&� K0 J �&6%� 1 J !���%L� � �%��&).
��7 k−1 ����#��7 7���#�%# !&��8�� ���*�;�� (�'�� *�%&� K����#��
@ k−2 �� 0L� �%��&)��� ��%�
�6�%#� 
�
 � ��� +�����
�"�! 
�����"�����
D*�"����� *�� ��� ��
�! 
�����"���� Nmin = −Nmax.

I������� *�%&� " "��� ���
� � !���&# �� ���
��
� �
���"���%#
�����+��!$ ��&) �!��� �"�9��� ����%��"&���� K%� ���
�! � +��L� ��.��
*� � ����%��"�!�9 �������� %�<���%# �� �����(�� 
��!� �� �� ��.�����.
!� ���&���6�%# �����(�� %&�<���# � "�*�����#� 4�=��!� �� ���
��
�
���!��#6� ��� �9 %��%�+ 
�����"���# J �������
������ ����

����&����&)��9 
�� ���"�&#�� 
�����"��) bk ���&�*��!� ��+���.
!� (�'� (�&�*�%&����9 �����"�& [−bk−1... + bk−1 − 1]� 4�� =��! *�%&�
�� ��&�<���&)��9 ��&�"��� =�� � �����"�&� �!�6� �� <� 
���� 
�


/1



��� +�����
�"�! 
�����"���� K" %���8�! ����#�� 0 � �+%�&6���# "�&�.
*��� " �%��&)��7 ����#��7L� � ����(���&)��# ��&�"��� ���+��<���%#
�� "����6 ��&�"��� +�����
�"� � �����"�&� [bk−1...bk − 1] �� ���"�&�
−N → bk − N K��
�� ���� *�%�& %��"��!� �� !���&6 bkL�

�������
�� 4 k = 6 0
0 = 9 9 = 9

+1101
�� 3 k = 5 0
1 9 9 9 9

−1 = 100000 − 1
�� 5 k = 7 0
9 9 9 = 9 9 =

−1010 = 10000000 − 1010

A&���6;�9 �& ����! "�*�%&#�� ����%��"&���� −N " ����&����&).
��! 
��� " b.�*��9 ����#���9 %��
� ���!��� k�

(�)�	
�� *��+
• ��!����) " ����%� *�%&� N 
�<��6 (�'�� �� ����&�����! ��

b−1� !�
%�!�&)��9 (�'�� %� %� K�&# �"��*��9 %�%��!� =�� ��"��%�&)��
��"��%�� ����#��"$ ��!��� ��&�9 �����(�!� � ���+����LO

• 
 ��&�*����!� *�%&� ���+�"��) �����(�O
• "�#�) !&��8�� k ���
�" ����&)����O ��� ���+7���!�%�� ����&���)

��&#!� %&�"��
��9%�"�# �& ����!� A11 ��"��%�&)�� "�*�%&���6

((bk − 1) − N) + 1 = bk − N = −N(mod bk).

A"�9%�"� ����&����&)�� � 
��� K���!��� %!� ��<�L$
• �& ����! A11 ���� ���"�&)��� ����%��"&���� �+�����7 �� ���
�

*�%�& J 
�
 ��&�<���&)��7� ��
 � ����(���&)��7� � *�%���%��� � �
��"������ ���!������ 
 %"��!� ����&)���� "�%%����"&�"��� �%7�����
*�%&� N O

• �&# �"��*��9 %� %�$ �%&� �����%��) 
 *�%&� � � ���
 %���8�9 (�'.
��9 � "���&���) �& ����! A11 ��� ��%8������9 ����%)6� �� ���"�&).
��9 ���
 �+����� � *�%&� ��&�*���%# �"��!���*�%
�O

• ��&) �!��� ����%�"����� ����%��"&����$ �& ����! A11 �&# ��&#
"����� %��"� ��&)O
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• �� <� %"�9%�"� �!��� !���!�&)��� ����(���&)��� *�%&� −bk−1�
�� �!�6;�� ��&�<���&)�� � 3��������5$ � � ����&����� ��"�� �!�
%�!�!��

�������

)�(�� 8 5 6, N 5 O+ ��E B�(�� (� F����! N . �*�'��# �%� . �'(��*�����
* '�.����������! ��'� � 0�FF����*�E ���� . ���"�E ��%� D� . �'(��*����EG
�����%�B�#� '���#� . �*�'��# '�E −N -

N	� s(N) N
/	� −N
/	 s(−N) −N

• � 0$000000� � /�� V /��.� �$������� .�

• ./ �$������0 /�2 / V /��./�2 0$00000�0 /

• /� 0$00��00� /� /1� V /��./� �$��00��� ./�

• .2C �$�0�000� /0� 2C V /��./0� 0$0�0���� 2C

• �/C 0$������� �/C �/� V /��.�/C �$000000� .�/C

• .�/
 �$0000000 �/
 �/
 V /��.�/
 �$0000000 .�/


• 0 0$0000000 0 0 V /��K\B] /��L 0$0000000 0

���� '����	�	�� 
��.�������)�� ����
���

� �
����	�� ���)�

����&����&)��9 
�� ���+�� ��!� *�� ���"�&)��� '��!���"����
���
�"� � ����#�� ����&)���� ���'!���*�%
�7 �����(�9 " ������#���7
�& ����!�7 !�<�� �%�;�%�"��) �� �&#���! �+����!$ 
�
 �%&� +� ��
+�& ���%�� ����&����&)��! %���8�! ����#��! *�%&��

��.���"�7� =�� ���"�&#�� ��+�"��)%# K
�
 " ���
�"�9� ��
 � " +�����.

�"�9 ���'!���
�L �� ���&���(�� "�*�����# ����&)��! �& ����!�!$
��9%�"���&)��� ��
 
�
 a − b = a + (−b)� ��%����*�� ����"�%�� "�*���.
�!�� " ����&����&)��9 
�� � "���&���) %&�<�����

��."����7� �
���"���%#� ������#���� %&�<���� *�%�& %� ���
�! �
+�� ���
� !�<�� �%�;�%�"��) �����! �& ����!�! K�����!��� A10L$ !�.
����&#(�� % (�'��!� �����
�"�� ���&�*���%# &�8) %��%�+ ��������.
��(�� 
���*�� � ����&)���� J 
�
 ���
�"� � �&� +�����
�"� � *�%&��
K�&# �!��<���# � ��&���# =�� �� ���7���� +�� ����&����&)��7 ���.
"�����9�L

/�



A&���"���&)��� �&# ���&���(�� �����(�9 ���� %&�<���# �&# �+��7
!���&�9 ��%����*�� ���� � �& ����!��

4�� "���&����� �����(�9 ��� *�%&�!� �����9 ����#���%�� �����.
"����%# ��
 ����"��!�� ������������$ ��%8������ '��!��� +�&�� 
�.
���
� � *�%&� �� +�&�� �&���� �� �&# =�� � � � ����#���# %��
� ����&.
�#��%# %&�"� ��<��! *�%&�! %���8�7 ����#��"� 
������ ����&�#6�%#
��&#!� �&# +�����
�"�7 � ��&�<���&)��7 ���
�"�7 *�%�& � �����(�.
!� �&# ����(���&)��7 ���
�"�7 K=�� �����(�# ��
<� ����"���%# ����
����	 ����������	 �����L� ����"��"���� *�%�& �+�*�� "���&�#��%#
"� "%��!� ���&)��9 ��!#�� ��<�� � ���!����

�	
�
	
�#B�(����  �F��(�� 6;C7 '�E OC �F E'��& '*��B��& (����-

��� ������� ��� � ������ �� ������� ������

��� � ����!���!�� �������� ���"!���!� �� # ������ ��������

��� ������� �� � ������ �� ������� ���

$�� ������� �� � ����%�!&� ��� '&�� ��� (&� � )!&������� ���

��� � ����!���!�� �������� ���"!���!� �� �� # ������ ��������

��� #�����*���� �%�+��!� , ���������'��� ������� ����������

+�� ��!�����!�� �&��)��!� �&��"� ����*��� ��� ��&�!� ��������

���-%.&�& � ��%�+!&�%.��� �������� )!�%� ��

��!�B����+ .� �(����*�� �.� �"�& .� �*�'� * '�.���������#& ��' � F��C
��*�%�  �(1� ���E �� 1�%�$ $ � � . �*�'�� � ��!� D�  �F�������- �'����
. � H��!  �(1� E��(E *(�%'� .���D�������� B�(��-

:��� ���!�� �&&6%������� %��%�+ "�*�����# +�����
�"�7 *�%�& 25
� 3� � ��
<� %&�<���� +�����
�"�7 *�%�& 25 � 253 % ����&)����! 22 =
278(mod 28)� ��
�! �+����!� �& ����! 
����
��� � �&# +�����
�"�7
*�%�&�

��"� ����	�� � �������	�	��

4�� "���&����� ���'!���*�%
�7 �����(�9 ����&)��� !�<�� �
�.
���)%# "��  ����( ����%��!� � �����"�&�� 4��"������ �� !���&6 K��.
��! �%�*���# ���*�;�7 (�'� " %���8�7 ����#��7L "���"��� ��
&���.
��� ��&�*���� � ����&)���� �� �%����� �� :�� %����(�# ����"���%# ���
����������	 ��������� ��
��O ��� "��!�<�� " �+��7 ��%%!�������7
����%��"&���#7 � ��&<�� 
�����&���"��)%# "� ��+�<���� �8�+�
 "
"�*�%&���#7�

.���������� ������������  ����	�
������� �������*� �� �� "�7�� ��
 ����(� �����"�&� [0...bk − 1]� ��� %&�<���� ��"��%�&)�� ������%� 1
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�� %���8� � k − 1. � ����#�� " ��%�;�%�"�6;�9 k.9 K%�!!� +�&)8�
bk − 1� ���"������# %�!!� �
���"���%# !��)8� �+��7 %&� ��!�7� *��
�����!�&)��L� 4�� "�*������ K+�&)8� � *�%&� �� !��)8� �L ������&.
����� ��"��%�&)�� ���!� 1 �� ��%�;�%�"�6;� � k. � ����#�� " %���.
8�9 k − 1.9 K�����%�) ����(���&)��� ���"������# �����%�) �
���"���.
%# +�&)8� �!��)8��!� �� *�� ��<� �����!�&)��L� 4��(�%%�� 
�����&�.
���� =�� %����(�� �%����"
�9 ���/�� �������� K@Y^^_ `YaL " �� �%���
%�%��#��#� 
�����9 !�<�� ���"����)� *��+� "���&���) �+��+��
� ��.
����%��

���'!���*�%
�9 ������% �� "%� �� ����*��� �8�+
�$ =�� ���!�&).
��� #"&���� ��� ���&���(�� ���'!���
� % !�� �����#���!� *�%&�!��
7����!�!� " ��%
�&)
�7 !�8����7 %&�"�7� F7 %&�<���� "���&�#��.
%# ��%&���"���&)�� �� !&��8� � %&�"� 
 %���8�!�� � %� ��& ������%�
%"�����&)%�"��� &�8) � ���+7���!�%�� ���+�"&���# ����&����&)��9
�����(� 
 %&���6;�!� %&�"� �&� "�*�����# �� �� �� �&# =�� � " %�.
%��!� 
�!��� ���(�%%��� �+�*�� �!�6�%# 
�!���� �%����"
� %�%��#.
��# '&�<
� ������%� � 
�!���� %&�<���# � "�*�����# % ������%�!
K���!�!L�

0������� ������������� �� �� "�7�� �� �����"�&� [−bk−1...bk−1 − 1]�
"����
��� ��� %&�<���� ��&�<���&)��7 *�%�& " %&�*�� ������%� 1 "
���
�"�9 k− 1.9 ����#� ����&)���� K���"������# %�!!� %����"��%# ��.
��(���&)��L �&� ��� %&�<���� ����(���&)��7 % ���!�! �� ���
�"� �
����#�� K���"������# %�!!� %����"��%# ��&�<���&)��LO ���&� �*�� J
��� "�*������� 4��(�%%�� 
�����&����� ���
�"�� ������&����� �%��.
��"
�9 ���/�� ������������ KBbc^`Bd `YaL " �� �%��� %�%��#��#�

��
 
�
 �����(�� ���� %&�<���# �&# ���
�"�7 � +�����
�"�7 *�%�&
���&���6�%# ����9 
�!����9� '&�<
� ������%� � ������&����# '��.
!���6�%# ����"��!����� �� �&# ���
�"�9 ���'!���
� ��%�;�%�"����
%�%��#��� ������%�� � �&# +�����
�"�9 J ������&����#�

�������
�A 9 + 99999== I 9 + 999===9 5 9A9+99=99=9, .� ���( 5 9, .� �.������� 5 =
/ B�(�� (� F����!+ @C?A I @C9;A 5 @C9:A M .� ���( �� �!��� (!#(��, �1�0��

���G
/ B�(�� 0�F F����+ 6;6 I 6?95@6;<IA67> M .� ���( ���F#*��� �� 0�FF��C

��*�� .� �.�������-
0A = + 9999999 I = + ======9= 5 9 + ======9, .� ���( 5 =, .� �.������� 5 9
/ B�(�� (� F����!+ 96> I 6 5 @6;<A C 96> M F����*�� .� �.�������G
/ B�(�� 0�F F����+ 96> I 6 5 96: M .� �.������� �� �!��� (!#(��, �1�0��

���-
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��.����)
 ��!�� 	�����

?6+�9 ��9%�"���&)��9 �����"�& %����<�� +�%
���*��� !��<�%�"�
*�%�&� ��
 
�
 %�;�%�"�6� *�%&� % �����"�&)�� �&����9 � ��<� +�%.

���*��9 ���+��9 *�%�)6� �&# ����%��"&���# " 
���*��9 ��!#�� ���.
!��#��%# ��%
������(�# �����"�&�$ ���+����� � � �� ��%����*�� !�.
&�� ��������"�&�� " 
�<��! �� 
�����7 "%� *�%&� %"��#�%# 
 ����!�
� ��!� <� ����,������
���
��-� %����"#%)� ��
�! �+����!� �����&�.
*�!�!�� G����� %"���!� � �����"�&� ������&#�� !�
%�!�&)��6 ���
�������
� �����
������� J ��
&������ ���*���# �%����� � *�%&� ��
���*���# � � ����%��"&���#�

4��%��98�9 %��%�+ ���+����# � "�+��� ����%��"&���9 J �%�*����
���+��9 *�%�� *�%&� R ����� ��
����� � ����#��−k� 4�&�*��!�9 ����.
%��"���&) r �!��� �� +�&�� k ���*�;�7 (�'� " ���+��9 *�%�� � ����.
%��"&#�� "%� *�%&� �� �����"�&� [r...r + ε[�  �� ε = b−k J !�
%�!�&)��#
�+%�&6���# �� ��8��%�)� ��"��# ��%%��#��6 !�<�� ����%��"���&#!��
��"��!����# "��&) "%�9 *�%&�"�9 �%��

��� �9 %��%�+ ���+����#$ �%�*���� ��%&� ����#�� −k % �
�� &����!
�� −k − 1.!� J ���"���� 
 ����%��"&���6 *�%&�! r %�!!����*�� �
�����"�&� [r − ε...r + ε[�  �� ε = b−k/2� � ���� "�"�� !��)8�6 �(��
�
!�
%�!�&)��9 �+%�&6���9 �� ��8��%�� ��� ��! <� ��%%��#��� !�<��
����%��"���&#!��

�����9 %��%�+ ���+����#$ �%�*���� ��%&� k �
����� �����1�� ���.
�#��" *�%&� % �
�� &����! J ���"���� 
 ����"��!����! �� 8�����
%"���!�! �����"�&�!� % �;�6;�!%# "�
�� ��&#$ *�%&� r ����%��".
&#�� �����"�& [r − εr...r + εr[�  �� εr = b−k+p/2� p P ���#��
 ���!�.
&���"���� � "�;�%�"���� � *�%&� r� 4� ��8��%�) ����%��"&���# ���%)
�
����
������� ��
 
�
 ��"�%�� �� �+%�&6���9 "�&�*��� *�%&��

4� ��8��%��� "����
�6;�� ��� ����%��"&���� ��9%�"���&)��7 *�.
%�&� ��%��� ��� &6+�7 ���'!���*�%
�7 �����(�#7 ��� ��!�� 
�
 "����
�� %&���6;�7 '��!�&$

��%�) |x − x′| ≤ ε1� |y − y′| ≤ ε1� �� ��

|(x ± y) − (x′ ± y′)| ≤ ε1 + ε2�

|x · y − x′ · y′| ≤ min(|x|, |x′|) · ε2 + min(|y|, |y′|) · ε1 + ε1 · ε2�

>�%��;�# ����%��"����%�) "�*�%&���9 % ��9%�"���&)��!� *�%&�!�
���"���� 
 ���+7���!�%�� ����"�����&)�� � ���&��� ��%*����7 '��.
!�& % �(��
�9 !�
%�!�&)��9 �� ��8��%��� � ��
<� %��(��&)��9 �� �.

/




����(�� "�*�%&���9� !���!�����6;�9 ��� -����!��� "�*�%&���� "�.
��<���# (a + b) · (c + d) ���� !��)8�6 �� ��8��%�) ��� ��%
�����
%
�+�
� � "���<���# (a/b) · (c/d) J ��� ���� �������"
� " ���� ���+)�

��%� ������
���	�� �����������	�� ������

.���
� � .�)�����
		�� ���)��

����&) ��9%�"���&)��7 *�%�& % '�
%���"����9 ��*
�9 ���&� �*��
����%��"&���6 (�&�7 *�%�& %� ���
�!$ ��� 7������� (�&�9 � ���+��9
*�%�� ��"����%# ��"�%���� *�%&� +���"� �� �� ���"#�
� ��!���" ����#��"
*�%&� 
 ����#��! %��
� '�
%���"��� � ����(�# �����&#6;�9 �"��*��9
��*
� ��"�%���� >���#�� ��%��%�"�6;�7 (�'� ����&�#6�%# �����*�.
;�!� ��&#!� %&�"� " (�&�9 *�%�� � %���"� " ���+��9� D���(���&)���
*�%&� !� �� 7�����)%# " ����&����&)��! 
����

������
9; k� = 7 O > k� = 8 =
= = 9 = 9 9 = = = 9 9 9 = 9 9 9

I9=99== -=999=999///M==9999 @�(�B����A

4� ��8��%�) ����%��"&���# " �����9 !���&� ��"��!����$ ε = b−k�/2.
4���%��"�!�9 �������� J [−bk� + ε ... bk� − ε[.

���'!���*�%
�� �����(�� ��� *�%&�!� % '�
%���"����9 ��*
�9
!�<�� "���&�#�) ������#���� ��%%!����"�# �7 +�� ��*
�� 
�
 ���
�"��
(�&��� 4�%&� �!��<���# ��*
� %��"��%# ����� 2k�.9 (�'��9 ����&)��.
�� %���"�� !&��8�� k� ����#��" ��+��%�"�6�%#� ���*�! �� %���8�!�
�� ��7 "���&�#��%# �
�� &���� !&��8�9 (�'�� ����&)����� �&# ��.
&���# ����&�"�� ��&�!�� %�"� ���%# "&�"� �� p1 ����(�9 �� ��#"&���#
���"�9 �����(� " %���8�! ����#�� %��
�� � ��&���&) J "&�"� �� p2 ��.
��(�9� �� ��&�*���# !�
%�!�&)�� � *�%&�� 
������ !��)8� ��&�!� ��
��%&� p = p2−p1 +1 ������&#�� 
�&�*�%�"� ���*�;�7 (�'� ����� ��*.

�9 " ����&)���� K�&� 
�&�*�%�"� "���;�7 ��&�9 " ���+��9 *�%��� �%&�
p < 0L� Q%&� p > k�� ��&���� ��"���!� ��%� %&�8
�! +�&)8�� *�%����
K������&�����LO �%&� p < −k� − 1� ����&)����! +���� !�8����9 ��&)
K����������&�����L� ��&���� !�<�� "���&�#�) 3%��&+�
�!5 K"�*���.
���! ��&���&# %� %�"� �! �%���
� "&�"�L �� ��&�*���# p + k� + 1 (�'�
����&)���� K��%&���## (�'�� �%��&)����%# �&# �
�� &���#L� N�!���!�
*�� ��� "���&����� �
�� &���# ��
<� "��!�<�� ������&������

/�



��&� ������
���	�� �����������	�� ������

.���
� � ��
�
35�� ���)��

����&) ��9%�"���&)��7 *�%�& % �&�"�6;�9 ��*
�9 %&�<�� �&#
����%��"&���# *�%�& % !�
%�!�&)��9 �
����
������ ��*��%�)6� ��!�.
�#�!�9 
�&�*�%�"�! 7����!�7 ���*�;�7 (�'� ��9%�"���&)�� � *�%&��
�&# =�� � �%��&)����%# ����%) *�%&� " ���	����������� ���	�� �&#
����"��� *�%&� R " =�� '��!� ��*
� " � � b.�*��9 ����%� %�"� ���%#
" ����(�6 ��%&� %���8�9 ���*�;�9 (�'��$ ��&�*�"8��%# *�%&� m ��.
��"���%# 	��
������ � *�%&� ����(�9 p� �� 
������ ��*
� %�"���&�%)
"&�"�� J ������	 �������	 Kp ����(���&)��� �%&� '�
��*�%
� ��*
�
����!�%��&�%) "���"�L� 4�� =��! "���&�#��%# ��"��%�"�

R = ±m · bp,  �� 1 = b0 ≤ m < b1, p − (�&��, K�0L

���"�# *�%�) 
����� � � #"&#��%# ���!�&���"����! ����%��"&����! R�

�������

123(10) = 1.23 · 102, 0.00123(10) = 1.23 · 10−3, 01001.11(2) = 1.00111 · 23-

��
 
�
 ����(�# ��*
� " !����%%� '�
%���"��� K��%&� ���"�9 (�'.
��L� m �������*�� %���"��%�"��� (�&�!� *�%&� m′� %�%��"&����!� ��
��7 <� (�'�� ��
�! �+����!� *�%&� R !�<�� +��) ����%��"&��� ����9
(�&�7 *�%�& (m′, p)� 
�
 =�� � ��&���%# " !���&� % �&�"�6;�9 ��*
�9�
�&# 7������# (�'� !����%%� � ���#�
� ��"����%# '�
%���"����� *�%.
&� ����#��" %��
� Kkm � kpL� " 
�����7 ��� 7���#�%#� 
�
 �+�*��� (�.
&��� ��� =��! ���#��
 �+�*�� 7�����%# 
�
 ���
�"�� (�&�� " ����&��.
��&)��! 
���� � !����%%� J 
�
 +�����
�"�� (�&��� N��
 "�;�%�"���� �
*�%&� 7�����%# " ����&)��! ����#���

������
F� 9? kp = 5 9= : km = 10 =
= = = = 9 9 = 9 = 9 = 9 9 = 9 9

1010.1011011011 = 1.0101011011011 · 23

m′ = 10101011011/M011 (�(�B����), p = 11(2)

7��
���

+ " �"��*��9 %� %� %���8�# ���*�;�# (�'�� !����%%�
"%� �� �����(�� 
�����6 ��� �� �� 7���#� K
�
 " =��! ���!���L� *��+�
%=
���!��) ����#� �&# ����&����&)��9 ���*�;�9 (�'��� � ��+�"&#6�
��� ��"&�*���� ���*���# ����� "���&�����! �����(�9�

4���%��"�!�9 =��9 !���&)6 �����"�& *�%�& �!��� "��7�66  ��.
��(� Rmax = +mmax · bpmax � ��<�66 Rmin = −Rmax� ����!�&)��
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����%��"�!�� *�%&�� ��&�*��� �� 0$ ε1 = mmin · bpmin � � ����%���&).
��# �� ��8��%�) ����%��"&���# *�%�& " !���&�$ ε2 = b−km/2� J #".
&#6�%# "�<��!� 7���
����%��
�!� !�8���� �%��&)���!�!� ��� ���.
&��� "�*�%&���&)��7 �& ����!�"� �&# ���"������9 �"��*��9 !���&�

Rmax = (2 − ε2) · 22kp−1
� ε1 = 1 · 2−2kp−1

�
���'!���*�%
�� �����(�� ���� %&�<���# % �&�"�6;�9 ��*
�9 ���.

+�6� ����"�����&)��9 �����	�������� ��������" K���"�����# 
 ��.
��!� ���#�
� ����! %�"� � ���� � �� �� �!����"� �+�*�� % !��)8�!
���#�
�!L � ��%&���6;�9 ���!�&���(�� ����&)����� 4�� !�&)���&�
�.
��"��7 �����(�#7 ����&)�� "���&�#��%# �!��<���� �&� ��&���� ���.
!�&���"����7 !����%%� ����&)�� J %&�<���� �&� "�*������ ���#�
�"O
��%&���6;�# ���!�&���(�# ����&)���� ��9%�"�9 % !����%%�!� !�<��
%
����
����"��) ����&)��� ��9%�"�9 % ���#�
�!� �� �� � �����! ��%�.
+�� !� �� ���"���! �& ����!�� ���&���6;�� ���'!���*�%
�� �����.
(�� % �&�"�6;�9 ��*
�9 ��.�� �7  ��!���
�%��� � ��%��#;�� "��!# ��.
*�� "%� 
�!�)6������ ��7���
���� ������<�"�6� !���&) "�;�%�"��.
��9 ���'!���
�� ���%����6 !�<���������! %��������! efff C�2� *��
�+�%��*�"��� ������%�!�%�) "�*�%&���&)��7 �& ����!�"�

�	 �������� ���
�� ����
�����

� ����
������

� �����! ��%�+�� !� 
�%��!%# %�!�7 ���%��7 ���#��9 �� ������
"���#���%��9� 
������ ��! �����+�6�%# �&# ���*���# ��
�����7 %��.
%�+�" 
�����"���#� �����# "���#���%��9 ���*��� %��%�+� "�*�%&���#
"���#���%��9 %&�*�9��7 %�+���9�

���� /�������	�� ������	���� � ��	��	�� ��
���


A�+����� 
������ !�<�� ������9�� �&� ���� ����"�6� ��,�����	�
4��!���!� ��
�7 %�+���9 #"&#6�%# ��������� %���&
� " !�8��)� ��.
"&�*���� ��!� ��
 �� 
�&��� 
���� "�� ��8 +�&��� " ���� ��8� &�.
����� � �� �� -� �%��"���� ����&)�� "�#�� � %&�*�9�� � %�+���# ��&)�#
���*�� ����%
����)� �����!��� 
�
�� +�&��� �
�<��%# "�� ��8��!��
-� �%&� ���"�%�� ��%����*�� +�&)8�6 ��%&���"���&)��%�) �%������9�
�� !�<�� "�#"��) ������&����� ��
���!����%��� ���"�&#6;�� ��&��)

�&�*�%�"����� ����%
�����#�

1�



�&# !���!���*�%
� � ���%���# =
%����!���� %� %&�*�9��!� %�+�.
��#!� ��! �����+���%# ���#��� ����
����
�� 2��	��
����� ��
�
��
 �������* 
�
 !��<�%�"� "%�7 ���&�*��7 %�+���9� "��!�<��7 ��� ���.
"������ =
%����!����O �+����*�! � � Ω� :&�!�������%�) �%7���" ��.
��!���%# " ��! %!�%&�� *�� �� ���� �� ��7 �� ��%%!����"���%# 
�

%�*������ ��� �7 %�+���9�

>�%%!����! %&���6;�9 =
%����!���� ����! +��%��) !����� �� ��7
���� ��
� �� "������  ��+� 4�%&� =�� � =
%����!��� ��
��*�!� 3:&�.
!�������9 �%7��5 =�� � =
%����!���� !�<�� ����%��"��) " "��� ��.
%&���"���&)��%�� �, �, �, ..., �,  K �� � J ��8
��  J  ��+L� ��
�7
��%&���"���&)��%��9 +�%
���*�� !�� �� A&���"���&)��� " �����! %&�.
*�� !��<�%�"� Ω +�%
���*���

>�%%!����! ��� �9 ���!��$ ����
������ +��%���� � ��&)��9 
�%���
����! %*����)� *�� "��!�<�� ��&)
� ���� �� � �%7���"� %���"��%�"�.
6;�7 ������6 
�%��  ���#!� % 1, 2, ..., 6 �*
�!� ""��7� �%� ��� ��
�%7���� �����!�� ������� 
�%�� �� ��+��� %*���6�%# ��"��!�<��!��
��<��9 "��!�<��9 �%7�� ���+�� �+����*��) *�%&�! "���"8�7 �*
�"�
�� �� ���%����%�"� =&�!�������7 %�+���9 Ω = {1, 2, 3, 4, 5, 6}.

H��!�&� ω ∈ Ω ����*���� *�� =&�!�������� %�+���� ω #"&#��%# =&�.
!����! ���%����%�"� Ω� ��� �� %�+���# �%��%�"���� ���%�"��) !��<�.
%�"�!�� %�%��"&����!� �� =&�!�������7 �%7���"� -����!��� %�+�����
%�%��#;�� " ��#"&���� *���� � *�%&� �*
�"� ���%�"���%# !��<�%�"�!
S = {2, 4, 6}. H��!�&� S ⊆ Ω ����*���� *�� %�+���� S #"&#��%# ���!��.
<�%�"�! ���%����%�"� Ω�

��<�� ���%&����) %���"��%�"�� ""������7 ���#��9 %� %&���6;�!�
��"�%���!� " !���!���
� ���#��#!�$

A&�*�9��# "�&�*��� −→ ����!����#
:&�!�������9 �%7�� −→ ���*���� ����!����9
4��%����%�"� =&�!�������7 �%7���" −→ �+&�%�) ���*���9
A�+���� −→ ���!��<�%�"� �+&�%��

���*���9
D�����&�! '��!�&)�� 	��, ��
�
�� µ 
�
 ���+��<���� �� ���.

%����%�"� Ω " N K!��<�%�"� ������&)��7 *�%�&L� �+&���6;�� %&���6.
;�!� %"�9%�"�!�$

�L µ(∅) = 0�  �� ∅J ��%��� !��<�%�"�� �� �� !��<�%�"�� �� %����<�;��
�� ���� � =&�!����O

/L S1 ⊆ S2 ⇒ µ(S1) ≤ µ(S2)�  �� S1 ⊆ Ω, S2 ⊆ ΩO
1L µ(S1 ∪ S2) = µ(S1) + µ(S2) − µ(S1 ∩ S2).

1/



�"���! '��
(�6 p(S) �����
���
� ��
�
�� 
�
 *�%&���� � "���.
<���# "��!�<��%�� %�+���# S �� �������! ���%����%�"� =&�!�������7
�%7���" Ω %&���6;�! �+����!$

p(S) =
µ(S)
µ(Ω)

=
*�%&� <�&���&)��7 �%7���"

*�%&� "%�7 "��!�<��7 �%7���"
. K��L

4�� 3<�&���&)��!�5 �%7���!� ���%) ����!�6�%# =&�!�������� �%7�.
��� �+����6;�� %�+���� S� F� ������&���# #%��� *�� 0 ≤ p(S) ≤ 1 �&#
&6+� � S ⊆ Ω� p(∅) = 0, p(Ω) = 1� A�+���� % "���#���%�)6 �� �*�"��.
��� %����<�� "%� =&�!�������� �%7��� �� %&���"���&)��� ����%7����
��"���#
�� A�+���� % "���#���%�)6 0 �� %����<�� �� ���� � �%7����
%&���"���&)��� �� ����%7���� ��
� ���

����#���%�) �� �� *�� ��� +��%���� 
�%�� "������ �����(�� ��"��

µ({1})
µ({1, 2, 3, 4, 5, 6}) =

1
6
.

����#���%�) ��#"&���# *���� � *�%&� �*
�" ��"��

µ({2, 4, 6})
µ({1, 2, 3, 4, 5, 6}) =

3
6

=
1
2
.

4�%
�&) " ��%)!�7 
 H��!� " ���2  � ��%�&$ 3��
 "�&�
� "���#�.
��%�)� *�� 
� �� # ���%��%) ��*)6 � ��%!���6 �� *�%�� �� +�&)8�#
%���&
� +���� %��#�) !�<�� �� � /0 !�����!�g5 F " =��! <� ��%)!�
���"���� ��%%�<����# � ��!� *�� "���#���%�) �� �� *�� %���&
� *�%�"
+���� ��7����)%# " =��! ���!�<��
�� ��"�� 5

60 = 1
12 .

�����!� � %&�<���� "���#���%��9�
 !�" 8��
 �
	
�
�
�

 ��%��
� � 
 � �
�1���2 �� ��	��
�&

�
�� 	��
�����

p(A ∪ B) = p(A) + p(B) − p(A ∩ B).

:�� '��!�&� �&# "���#���%�� %&����� �� �
%��!� 1 �&# !����
�	
�
	� -�9��! "���#���%�) �� �� *�� "���;����# �� ��&��9 
�.

&��� 
���� �
�<��%# ��
�9 �&� 
�����
�9 K"�&���!� ��!�9� 
���&�!�
����!L� 4�%�) %�+���6 A %���"��%�"��� ��"&�*���� �� 
�&��� 
��� ��.

�� %�+���6 B J 
�����
�� �&# 
�<��9 
���� �� 
�&��� "���#���%�)
"���;��) �� ��"�� 1

52 . ��%&� ��
 " ��&��9 
�&��� ��"�� 13� A&���"�.
��&)��� "���#���%�) %�+���# A ��"�� 13

52 = 1
4 � ��%&� 
������
 ��"��

16� %&���"���&)��� "���#���%�) %�+���# ��"�� 16
52 = 4

13 . A�+���# A �

11



B �!�6� ����%��� ����%�*����� ��
 
�
 "���;����# 
���� !�<�� �
�.
���)%# ����"��!���� � ��
�9 � 
�����
�9� ���<�%�"� A∩B %�%���� ��
*�����7 =&�!����"� %&���"���&)��� p(A ∩ B) = 4

52 = 1
13 . D�%6��

p(A ∪ B) = p(A) + p(B) − p(A ∩ B) =
1
4

+
4
13

− 1
13

=
25
52

.

9�
����

� Q%&� %�+���� S �����&��� �� ��%
�&)
� ��%�"!�%���7
K"���!��%
&6*�6;�7L %�+���9� �� � � "���#���%�) ��"�� %�!!� "���.
#���%��9 =��7 %�+���9� -����!��� �%&� S = A ∪ B�  �� A ∩ B = ∅�
��

p(S) = p(A) + p(B).

�	
�
	� >�%%!����! ����� -�9��! "���#���%�) �� �� *�� "���;��.
��# �� ��&��9 
�&��� 
���� �
�<��%# ��
�9 �&� *��"�9� 4�%�) %�+���6
A %���"��%�"��� ��"&�*���� �� 
�&��� 
��� ��
�� %�+���6 B J *��"��
����#���%�) "���;��) &6+�6 
���� �� 
�&��� ��"�� 1

52 . ��%&� ��
 "
��&��9 
�&��� ��"�� 13� A&���"���&)��� "���#���%�) %�+���# A ��"��
13
52 = 1

4 � ����#���%�) %�+���# B ��
<� ��"�� 13
52 = 1

4 � ��
 
�
 %�+���# A
� B �����	��
��� �� �� ��
�
�# 
���� �� !�<�� +��) � ��
�9 � *��"�9
����"��!����� �� �%
�!�# "���#���%�) ��"�� 1

4 + 1
4 = 1

2 .
>�%%!����! �����) %���6 =
%����!����"� " 
�����9 ��
�����# %&�.

*�9��# "�&�*��� ��+&6����%# ��%&���"���&)�� ��%
�&)
� ���� 4�%&���.
"���&)��� %�+���# ����"�6�%# ��������	�	�� �%&� ��%���&���� 
�<.
�� � �� ��7 �� %"#���� �� % 
�
�! �� ��� �7� -����!��� �%7��� ���
+��%���� 
�%�� #"&#6�%# ����"�%�!�!� %�+���#!�� � ��%&���"���&).
��� "��# �"���# 
��� �� ����9 � ��9 <� 
�&��� +�� "��"���� J ���
K"���#���%�) "��#���) ��!� ��
 ��"�%��� �����!��� �� �� �� +�&� &�
��� �<� "��#���� " �������;�9 %����L�

�����!� �+ �!��<���� "���#���%��9�
 !," �
	�������0 ��)�2 ��� �
���
�
��
 ��%��
� �12 �2 �	�&


����1� � ����� �
	

 
������
�2 	���� �	�
��
�
�
$ �
	�&
������
� ��%��
� �1 
 �2�

�	
�
	� ����! ���+��%�"��) �"� !����� ����"��!����� ��
�"�
"���#���%�) �� �� *�� �+� !����� ������  ��+�! ""��7g 4� �����!� �+
�!��<���� =�� "���#���%�) ��"�� 1

2 · 1
2 = 1

4 .

���� 6	.���
���		
� ������ 7�		�	


�� G����� " ��1�  � ����&�<�& 
 ��%%!������6 %&���6;�6 !���&)
%�%��!� ������*� ��'��!�(��� F!�6�%# ��
����� K�����L � ����	���

12



K�������L� F%��*��
 � ����!��
 %"#���� !�<�� %�+�9 ������	� �� 
���.
��!� ������6�%# %��+;���#� ����& �� �%
�<��� � �� ���#�� %��+;���9�

4�%�) " �+&�%�� �%��*��
� ����%7���� ��+&6����� �� ��
�����9
%&�*�9��9 "�&�*���9� 4���!��
 !�<�� �!��) ��
������ ��������� ����.
%��"&���� � !��<�%�"� S�� "��!�<��7 �%7���" =��9 "�&�*��� �� �� ��

�
 ������8&� ��+&6������ -����!��� " 7��8�! %&�*��� 
� �� ��*� �
�� ��"�%��� �������� S�� �����!���%# �� "%� ���%����%�"� "��!�<��7
�%7���" Ω� 4�%�) �����) �%��*��
 �������� ����!��
� %��+;���� � ���.
���8��8�! ��+&6������ ��%&� ��&�*���# 
����� � !��<�%�"� ������.
&�<���&)��7 �%7���" � ����!��
�� "��+;�  �"��#� %�<���%# �� S�����
K" &�*8�! %&�*�� �� ����%�"���� � ��+&6���!� � �%7���L� :�� ����.
%��"&���� +���! ����"��) ����
�������	� K����! ����!�� ������&�.
 ��)� *�� %��+;���� �� !�<�� "��%��) 7��% " �!�6;��%# �����# ���.
�!��
�� �� �� ��%8��#�) �+M�! %�;�%�"�6;�7 ������&�<���9�L ����!
 �"����)� *�� �%��*��
 ������& ����!��
� ��
�����6 �����	���- �
����%8��8�! %�+����� �� �%��"���� 
�����9 ��!���&�%) ����%��"&�.
��� ����!��
� � !��<�%�"� "��!�<��7 �%7���" ��+&6���!�9 "�&�*�.
��� -�! +� 7���&�%) �����) ""�%�� 
�&�*�%�"����6 !��� ��'��!�(��
�&# ��%������# !���!���*�%
�9 �������

D�����&�! �������
�� �����	����� %����<�;�9%# " %��+;���� m�
��!��#6;�! ����%��"&���� ����!��
� � %�+���� % S�� �� S����� K����.
��&� �#� *�� S�� ⊇ S�����L �� '��!�&�

I(m) = −log2
p(S��)

p(S�����)
. K�/L

Q����(�9 
�&�*�%�"� ��'��!�(�� #"&#��%# 
�
�
�	
�
	 �� � %�!)� ��&<�� �����)%# ��+���
� 4��%����%�"� =&�!��.

�����7 �%7���" �����9 %&�*�9��9 "�&�*��� J h	������3 �������i� J
%�%���� �� �"�7 �%7���"� D�%��%�"�� ��������9 ��'��!�(�� � ����!.
��
� K������&�9L � ��&� !�&�8� ����*���� *�� S�� %�"������ % =��!
���%����%�"�!� A��+;���� �%��*��
� K"��*�L 3� "�% ����&%# !�&)*�
5
%�<��� =�� !��<�%�"� ������&�<���9 �� !��<�%�"� S����� �� ����.
%�"���� � �%7��� 	������� 4� '��!�&� K�/L 
�&�*�%�"� ��&�*����9 ��.
'��!�(�� ������&#��%# 
�


I(m) = −log2
p(S��)

p(S�����)
= −log2

µ(S��)
µ(S�����)

= −log2
1
2

= 1(+��).

�	
�
	 �� F� 
�&��� "��# �"���%# 
����� 4��%����%�"� =&�!��.
�����7 �%7���" J "%� �/ 
���� ��&��9 
�&���� � ��%��%�"�� ����*�&).
��9 ��'��!�(�� ���%����%�"� ������&�<���9 S��T1 ��
<� %�"������

1�



%� "%�! ���%����%�"�!� 4��"�� %��+;���� �� �%��*��
� 3"���&� ���.
'�5 %�<��� � � �� S�����T1 �� �1 "��!�<��7 �%7���"� ������ %��+.
;���� 3"���&� 
�����
�5 %�<��� S��T2 = S�����T1 �� S�����T2� %�.
%��#;� � �� 4 �%7���"� ����)� %��+;���� 3"���&� ��!� ���'5 %�<�.
�� S��T3 = S�����T2 �� S�����T3� %�%��#;� � �� ����%�"���� � �%7����
��&�*�%�"� ��'��!�(��� %����<�;��%# " ���"�! %��+;����� �*�"��.
��� ��"�� −log2(13/52) = 2 +���!� "� "����! J −log2(4/13) = 1.5, "
����)�! J −log2(1/4) = 2 +���!� -������� ���"����)� *�� K" %�&� ��.
����"��%�� '��
(�� &� ���'!L %�!!����� 
�&�*�%�"� ��&�*����9 ��.
'��!�(�� J 5.5 +��� %�"������ % 
�&�*�%�"�! ��'��!�(��� 
������
��%&� +� %��+;���� 3"���&� ��!� ���'5 = −log2(1/52) = 5.5 +���

:��� ���!�� �&&6%������� %&���6;�6 �����!� �+ ������"��%��
��'��!�(��$

 !�" :��
�
���� 
���	���

2 �
	
���
��
 ���%;
�

� �
��%��

2 	���� �1��
 ���
�
��� 
���	���

2 �
	
���
���
���%;
�
��
2 ����
�����
�0�� 1�����$;
�
 <�� ��%��

�

4�����<�! %�;�%�"����� %"�9%�"� ��'��!�(��$
J 
�&�*�%�"� ��&�*����9 ����!��
�! ��'��!�(�� ��"�%�� �� � �

����"�����&)�� � �����# � %�+����O
J 
�&�*�%�"� ��'��!�(�� ��"�%�� �� �� %�+���#� � �� %��+;���# �

��!�

���� 8���0�� 7�		�	
9 :
����

4�����&�<�! �����)� *�� �%��*��
 #"&#��%#  ���������! %�!"�&�"
�� ��
����� � !��<�%�"� {x1, x2, ..., xn} K����"�! � � ������
�	 �%��*.
��
�L� :�� %�!"�&� !� �� %&�<��) �&# �+����*���# 
�
�7.�� =&�!��.
�����7 %�+���9� ����%7��#;�7 " �+&�%�� �%��*��
�� ��� �+%��� ���#%)
�� ��7� " ��&)��98�! +���! %*����)� *�� ��%%!����"��!�! %�+����!
#"&#��%# ��%���&���� " 
���& %�!�7 %�!"�&�"� Q%&� p(xi) J "���#�.
��%�) ��%���&���# " 
���& %�!"�&� xi� �� �*�"����� *��

n∑
i=1

p(xi) = 1.

>�%%!����! �����) !���&)� " 
�����9 =&�!�������! �%7���! #"&#.
��%# ��
%��"�� ���
1����� �� �� ��
�����# (���*
� %�!"�&�" �� �&'�"���
�%��*��
�� ��
�! �+����!� Ω J =�� !��<�%�"� "%�7 (���*�
 %�!"�&�"
�����"�&)��9 �&���� 4� ��%����"8�!� %��+;���6 m !�<�� ��%*����)

1�



=
%����!����&)��6 ���
�
, "%���*��!�%�� " ��! 
�<�� � %�!"�&�  ��
N J �+;�# �&��� %��+;���#� � ni J *�%&� ��"������9 " ��! %�!"�&� xi�

νm(xi) =
ni

N
, K�1L

4��#���� *�� ���&�����# ���&�*��� %��+;���#� !� +���! ��&�*��)
���&�*��� =
%����!����&)��� *�%���� %�!"�&�"� �� �&# �%��*��
�"�
7���
������6;�7%# ��
���!����%�)6 "���*� %�!"�&�" K�7 ����"�6�
=� ���*�%
�!�L� �
���"���%#� *�� " ��%����*�� �&����7 %��+;���#7
"%� *�%���� %�!"�&�" %7��#�%# 
 ��
�����! �%��9*�"�! "�&�*���!

p(xi) = lim
N→∞

ni

N
, K�2L


������ !�<�� ��%%!����"��) 
�
 ������������� �����
���
�� "���*�
%�!"�&�" �����! �%��*��
�!�

>�%%!����! K��%����*�� �&�����L %��+;���� m� %�%��#;�� �� n1

%�!"�&�" x1� n2 %�!"�&�" x2 � �� �� " �����"�&)��! ���#�
�� 
�
 %�.
��6 =&�!�������7 %�+���9� %�%��#;�7 " "���*� �����*��7 %�!"�&�"�
�� �� "���#���%�) ��#"&���# �� "�7��� �%��*��
� %��+;���# m ��"��

p(m) = (
n1

N
)n1 · ... · (nn

N
)nn =

1
NN

· (n1
n1 · ... · nn

nn).

��&�*�%�"� ��'��!�(��� ������%�!�9 %��+;����! m �&��� N � ����.
��&#��%# 
�


I(m) = −log2
p(m)

1
= −log2((

n1

N
)n1 · ... · (nn

N
)nn) = −

N∑
i=1

ni · log2(
ni

N
).

��&�*�%�"� ��'��!�(��� ���7��#;�9%# " %�����! �� 
�<��9 %�!.
"�& " %��+;���� m� �%�)

I0(m) =
1
N

· I(m),

 �� N J �&��� %��+;���# m�
4���9��! 
 ��c��&� �� �&��� "%�"��!�<��7 %��+;���9 KN → ∞L$

I0(A) = lim
N→∞

I0(m) = lim
N→∞

1
N

· (−
N∑

i=1

ni · log2(
ni

N
)) =

1C



= (−
N∑

i=1

lim
N→∞

(
ni

N
) · log2 lim

N→∞
(
ni

N
)).

4� '��!�&� K�2L� "%��!���#� *�� " ��%����*�� +�&)8�! %��+;����
p(xi) = limN→∞ ni

N � ��&�*��!

I0(A) = −
N∑

i=1

p(xi) · log2p(xi). K��L

H��!�&� K��L ����"���%# '��!�&�9 =
������ :�� 
&6*�"�# '��!�&�
������ ��'��!�(���

��&�*��� I0(A) 7���
�������� %������ 
�&�*�%�"� ��'��!�(�� ��
���� %�!"�& �� �&'�"��� A % �������! K�&� =
%����!����&)�� ����.
��&����!L ��%�����&����! "���#���%��9

p(x1), p(x2), ..., p(xn).

>�%%!����! %&�*�9� 
� �� "%� %�!"�&� " �&'�"��� ��"��"���#����
�� ��

p(x1) = p(x2) = . . . = p(xn) =
1
N

.

A������ 
�&�*�%�"� ��'��!�(��� ���7��#;��%# �� 
�<��9 %�!"�& ��.

� � �&'�"���� �� '��!�&� G������ ������&#��%# %&���6;�! �+����!$

I0(A) = −
N∑

i=1

1
N

· log2
1
N

= −N · 1
N

· log2
1
N

= log2N. K��L

H��!�&� K��L �%�) '��!�&� >�	��
�

���� ��	���� )��


�"���! �����) ���#��� 
��� �&# %��+;���9� 4,������ �����������
����"���%# ���+��<���� K : �&'1 → �&'2� 
������ ��
�����9 (���*
�
%�!"�&�" �� �&'�"��� �&'1 %���%��"&#�� ��
�����6 (���*
� %�!"�&�"
�� �&'�"��� �&'2� 4�%&���## ����"���%# ����	 �%7����9 (���*
��

��<�� "���&��) *����� ���� 
�����"���#$
�� A�!"�& → %�!"�&� �� �� 
�� K : �&'1 → �&'2� ���*�! |�&'1| =

|�&'2|� |S| �+����*��� 
�&�*�%�"� =&�!����" " !��<�%�"� S� |�&'1| J

�&�*�%�"� %�!"�&�" " �&'�"��� �&'1� ��� K " =��! %&�*�� ��!��#��
�����*��� %�!"�&� �&'�"��� �&'1 �����*��!� %�!"�&�!� �&'�"���
�&'2�

1




/� A�!"�& → %&�"�� �� �� 
�� K : �&'1 → �&'2∗� ���*�! �+�*.
�� |�&'1| > |�&'2|� �&'2∗ �+����*��� (���*
� K��%&���"���&)��%�)L
%�!"�&�" �� �&'�"��� �&'2� N��%) �����*��� %�!"�&� �&'1 
�����.
6�%# (���*
�!� �� �&'2 �&��� ≥ 1�

1� A&�"� → %�!"�&� �� �� 
�� K : �&'1∗ → �&'2� ���*�! |�&'1| <
|�&'2|�

2� A&�"� → %&�"�� �� �� 
�� K : �&'1∗ → �&'2∗�
�	
�
	� 4�%�) �&'1 = {a, b, c, d}� �&'2 = {0, 1}� �� �� ���!���!


��� ���� / !�<�� #"&#�)%# 
��� 
�����9 %�!"�& a ����"���� " %�!"�&
0 K+���! ��%��) a → 0L� b → 01 Kb P " (���*
� %�!"�&�" 01L� c → 10�
d → 1�

����%��!� *�� %&�"� s = 01101010 +�&� ��&�*��� " ����&)���� 
���.
��"���# �� �����!� ���"�&�� -�! 7���&�%) +� �����)� 
�
�� %&�"� ��
�&'�"��� �&'1 +�&� ����"����� " %&�"� s� �&# =�� � ��<�� "���&���)
��9%�"��� ����"��!�� �������������	� �&� ������������ :�� ��9%�"��
%�%���� " ��!� *��+� ��9�� �+������ ����+����"���� K−1 : �&'2 −→
�&'1� � ��%%!����"��!�! ���!��� 
��� "��!�<�� �"� "������� ��.
8�'��"
� 
���� A&�"� addbba 
�������%# %&�"�! s� � %&�"� bccc ��
.
<� 
�������%# %&�"�! s� �� %��&
��&�%) % ���+&�!�9 ���������*��%��
��
�����"���#� 
� �� �"� ������ �%7����� (���*
� " �&'1 �!�6� ����
� ��� <� 
�� " �&'2� �&# �%��8��9 ��8�'��"
� ���+7���!�� *��+� 
�.
�� ����%
�&� �������*��� ��
�����"�����

��� ����"���%# ���������	� �%&� ��
�
�� 
���"�� %&�"� �� #"&#.
��%# ��*�&�! ��
�
� � ��� � � 
���"� � %&�"�� � ���!��� "�8� %&�"��
%�%��#;�� �� ���� � %�!"�&� 0� #"&#��%# ��*�&�! ��� � � %&�"� 01�
A&���"���&)��� ��%%!�������9 
�� �� #"&#��%# ���'�
%��! 
���!�

��"��<������ �	
�
����� ��� ��
)�� ��3
� %��0 ��������&
�� �
���
	�����

5��������� Q%&� 
���"�# (���*
� ��8�'���!�� �� !���!�&)��# ��
�&��� ��*�&)��# (���*
�� #"&#6;�#%# 
���! ��
����� � %�!"�&�� ���.
"�&#�� "�%%����"��) ���"�9 %�!"�& �%7����9 (���*
�� � %�&� ���'�
%.
��%�� ��
�
�# +�&�� �&����# ��*�&)��# (���*
� �� !�<�� +��) 
���!
��� � � %�!"�&�� ��%�) 
���� �%��"8�#%# ��%&� ����&���# 
��� ��9���.
�� � %�!"�&�� ��8�'����%# ��
<��

�	
�
	� 4�%�) �&'1 = {a, b, c, d}� �&'2 = {0, 1}� >�%%!����! 
��
K ��
�9� *��

a → 0�
b → 101�
c → 110�

1�



d → 1110�

>�%%!����! %&�"� s = 01101010� %�%��#;�� �� %�!"�&�" �&'�"��� �&'2�
��� K #"&#��%# ���'�
%��!� ��=��!� %&�"� s �������*�� ��
�������.
%#� � �!����$ acba�

�������� 
�*�%�"� 
�����"���#$

J !���!�&)��# �&��� 
���O

J �������*��� ��
�����"�����

4�� ����+����"���� ��'��!�(�� �� ���� � "��� " ��� �9 
�&�*�.
%�"� ��'��!�(�� �� "����%�����

��"� ����� ��(�0 �	.���
���		�� ��)����3

� ����	�� ���	�� )��
� 6�
����	����

)������
	��

>�%%!����! ���!�� �"��*�� � 
�����"���# ���� 3%�!"�& −→ %&�"�5�
4�%�) " �+&�%�� �%��*��
� % ��"��9 "���#���%�)6 "����
�6� �"� =&�.
!�������7 %�+���#� 
������ 
�����6�%# " 
���&� %�!"�&�!� 0 � 1� 4�
'��!�&� I���&� 
�&�*�%�"� ��'��!�(��� ������%�!�� 
�<��! %�!.
"�&�! 
���"� � %&�"�� �%�) log22 = 1 +��� Q%&� �%��&)����%# �"��*���

�����"���� ���� 3%�!"�& −→ %&�"�5� �� �&# ������*� ���� � %�!"�&�
�%7���� � �&'�"��� �%��&)����%# ���&�*��� *�%&� �"��*��7 (�'�� 4�.
��&�" �&��� ��%����*�� +�&)8� � 
���"� � %��+;���# �� �&��� �%7��.
�� � %��+;���#� !� ��&�*�! �%��������6 �&��� 
���"� � %&�"� �&#
����� � %��%�+� 
�����"���#� �� �� %������ *�%&� 
���"�7 %�!"�&�"�
�%��&)��6;�7%# �&# 
�����"���# ���� � �%7���� � %�!"�&� K
�
 !�
����!� =�� "�&�*��� +���� ��"�%��) �� *�%���� "%���*��!�%�� �%7����7
%�!"�&�" � �&��� 
���"�7 %&�"L� -�% ������%��� ��%������� ��
� � 
�.
��� ��� 
�����! =�� %����## �&��� 
��� %�!"�&� +�&� +� 
�
 !�<��
!��)8��

D
���"���%#� *�� "�&�*��� I0(A)� ""������# "�8� � ���"����# %���.
��9 ��'��!�(�����9 �!
�%�)6 %�!"�&� �&'�"��� �� ������&#�� ���.
��& %<�!��!�%�� 
���$ ��
�
�9 �"��*��9 
�� �� !�<�� �!��) %����66
�&��� !��)8�6� *�! I0� " �����"��! %&�*�� !�<�� +�&� +� �������)
��
������ 
�&�*�%�"� ��'��!�(�� !��)8�! *�%&�! +���"� *�� ��"��.
!�<��� ��
�! �+����!� &6+�9 
�� !�<�� +��) &�8) " +�&)8�9 �&�
!��)8�9 %������ ��
�
����	� �� �� �%��&)��"��) �&# ������*� I0 +���"
��'��!�(�� �� ���� �%7����9 %�!"�& K" %�����!L �� <� �&� +�&)8��

�&�*�%�"� %�!"�&�" 
���"� � �&'�"��� K" %�����!L�

20



D���%���&)��# ��+���*��%�) 
��� 7���
��������%# 
�
 ����8����
*�%&� 3��+���*��75 +���" " 
��� 
 �+;�9 �&��� 
���� �� �� �%&� %��+.
;���� �� N %�!"�&�" �&'�"��� A % ��'��!�(�����9 �!
�%�)6 I0(A)
��
�����"��� 
���! �&��� L +���"� �� ��+���*��� *�%&� +���" �%�)

L − N · I0(A),

� ���&)��# ��+���*��%�) 
�<�� � %�!"�&� 
���

L − N ∗ I0(A)
L

= 1 − N

L
∗ I0(A). K�CL

N�!���"� *�� limN→∞ L
N �%�) %����## �&��� 
���"� � %&�"� K0(A)�

��&�*�! ����"�%�!�� �� %��+;���# %�����8���� �&# ��+���*��%�� 
���$

Z(K) = 1 − I0(A)
K0(A)

. K�
L

F� '��!�&� K�
L %&������ *�� ����!�&)��! 
���! % ��&�"�9 ��+�.
��*��%�)6 #"&#��%# 
�� %� %�����9 �&���9 
���"� � %&�"� K0 = I0(A)
+���" �&� ���+�&�� +&��
�9 
 ��!�� 4�%�������! ��
� � 
��� !� � ��9.
!�!%#�

?
�$�
� I0(A) ��
���"���� 
�
�� " %�����! 
�&�*�%�"� �"��*��7
%�!"�&�" ��<�� �&# ����%� "%�7 
���"�7 %&�" �&'�"��� � ��� �����.
"�&)��! 
�����"���� 3%�!"�& −→ %&�"�5�

�&# �&'�"���" % ��"��"���#���!� %�!"�&�!� '��!�&� I���&� ����.
��&#�� !���!�&)��6 ���+7���!�6 �&��� 
���"� � %&�"�� �����!�� �&#
�&'�"��� ASCII

I0(ASCII) = log2256 = 8 +��.

��
�! �+����!� &6+�9 
.+����9 
�� �&# ASCII +���� ����!�&)��!�

��$� ;���� )������
	�� �� �(
���� �� :
..�
	0

����� 
�����"���# �� I�''!��� %�%���� " ��%������� �&# �������9
"7����9 %���
� �� �����"�&)��7 %�!"�&�" �"��*�� � 
��� �� %&���6.
;�!� �& ����!��

(�)�	
�� *��+
�� D�����&��) ��+�� "7����7 %�!"�&�" A =< a1, a2, ..., an > � ��%.

�����&���� �7 =
%����!����&)��7 *�%��� P =< p1, p2, ..., pn >�
/� �&# �����7 �&'�"��� A � ��%�����&���# P ��%�����) ��
 ����.

"��!�� �������� ������ 6���	����

2�



1� 4� ��%�������!� ����"� %�%��"��) '��
(�6 �"��*�� � 
�����"�.
��# �� I�''!��� ���� 3@�!"�& → %&�"�5�

2� F%��&)��# '��
(�6 
�����"���#� ��
�����"��) "7����6 %���
��
4��"�9 8� �& ����!�� �*�"����� ���&�����%# ����
�����! ���.

%!����! "7����9 %���
�� ��
��&����! "%���*�6;�7%# %�!"�&�" � ���.
%*���! �7 
�&�*�%�"�$ 
�
 �� ����&)��%��� ��
 � " (�&�!� >�%�����&�.
��� *�%��� %�����%# " 
��(� ���%!���� �� ��
��&����! %*��*�
�! ��
'��!�&� K�1L�

-� "����! 8� � �& ����!� %�����%# ����"� I�''!���� ��&� 
���.
�� � ��!�*��� ����!� ja, pk�  �� a P ��
�����9 �%7����9 %�!"�& �&�
"%��!� ���&)��9 �%�"��%�!"�&� � p P � � *�%����� :��� 8� ����&���.
����%# %&���6;�! �& ����!�!�

(�)�	
�� *��+
�	��
�1	� =�)@����	�
�
�+
����+ ��+�� %"�+����7 ��&�" ����"�O
•W
� = {< a1, p1 >, < a2, p2 >, ..., < ak, pk >}O
• ��9�� " W
� �"� ��&� Wi =< ai, pi > � Wj =< aj , pj > @ !���!�&).

��!� *�%����!� pi � pj O
• %�����) ��"�9 ���& Wi&j =< ai&j , pi&j = pi + pj >�  �� ai&j P

��"�9 �%�"��%�!"�&� ����%��"&#6;�9 lai �&� ajl� ��&�*��9 �� "%�7
ak� pi&j P *�%����� �����%�"��!�# =��!� ��"�!� %�!"�&�O

• ���%�������) ��&� Wi � Wj 
 Wi&j 
�
 %���"�9O
• �%
&6*��) "��") %"#������ ��&� � ��+�"��) ��"�9 %"�+����9

���&$ W
�� := (W
�

⋃{Wi&j})\{Wi, Wj}O
�����+ �+��"&����9 ��+�� %"�+����7 ��&�" W
��� %����<�;�9

k − 1 ���&�
���
� �	��
�1	�A

����+ A P �%7����9 ��+�� %�!"�&�" < a1, ..., aN >�
P =< p1, p2, ..., pN > P ��%�����&���� �7 *�%���O

•W0 := {< a1, p1 >, ..., < aN , pN >} K��*�&)��9 ��+�� %"�+����7
��&�" %���"��%�"��� "%���*�6;�!%# %�!"�&�!LO

• (�
& �� i �� 1 �� N
• Wi := G� T��%������#(Wi−1);
• 
���( (�
&�O

�����+ ����"� I�''!���� ��%�������� " (�
&� % 
����"�!
��&�!� %����<�;�!%# " WN �

4���&&6%������! =��� ��%������# �� ���!��� %���
� 3
�& �
�&� 
�.

2/



&�
�&�5� -�+�� "%���*�6;�7%# %�!"�&�" � �7 =
%����!����&)��� *�.
%���� ��
�"�$


 J 4
18 �

& J 4
18 �

� J 7
18 �

���+�& J 2
18 �

� J 1
18 �

-���%��! �#� ��&�" K��%� �L� �+����6;�7 ��*�&)��9 %��%�
 W0 K��.
��"� +���� �� &#����� �%&� "���%�"��) ��&� " ���#�
� �+�"���# *�.
%���L$

� � � � �1
18

2
18

4
18

4
18

7
18

� 
 & ���+�& �

���� �� ��������� �	
��� 
���� ������ ��������

-� ���"�9 �����(�� (�
&� ��%������# ����"� !� ��7���! �"� ��&� %
!���!�&)��!� *�%����!� K=�� 
��9��� %���"� ��&� 3���+�&5 � 3a5L �
%�����#�! �7 % ��"�! ��&�! < b1, p >� b1 P =�� �%�"��%�!"�&� ����%��".
&#6;�9 &6+�9 �� %�!"�&�" 3���+�&5 �&� 3a5� � *�%���� � �� �*�"�����
��"�� %�!!� *�%��� 2

18 + 1
18 = 3

18 � -�"�9 %��%�
 %"�+����7 ��&�" W1

%�%���� �� ��&�" 3�5� 3
5� 3&5 � b1 K��%� /L � 
���*� ���"���*�&)�� �
�� � ���&�

� � � � �1
18

2
18

4
18

4
18

7
18

�3
18

�
��

�
��
b1

� 
 & ���+�& �

���� �� ������ �������� 	���� ��� 
�����



-� "����9 �����(�� (�
&� "��") ��7��#�%# ��&� % !���!�&)��!�
*�%����!�$ =�� < b1,

3
18 > � ���� �� ��&�" <3
5� 4

18 > � <3&5� 4
18 >�

N��%) !� "���"� "�+���) &6+�9$ ��%�) =�� +���� 3&5� ���") ����%7����
%&�#��� �"�7 %"�+����7 ��&�" " ���� < b2,

7
18 >� b2 ����%��"&#�� �<�

��� �%7����7 %�!"�&� K��%� 1L�
4����&<�#� !� +���! ��&�*��) "%� +�&�� 
����
�� %��%
� Wi� � "

����"� +���! ��+�"&#�) 
�<��9 ��� ��"�9 ���&� � ��� � �&# ��8� �
���!��� !� ��%����! ����"�� ���+��<����� �� ��%� 2�

�����) ����7���! 
 1.!� 8� � �& ����!� ��1 P ��%������6 '��
(��

�����"���#� 4�!���! �� �� �%7��#;�� �� 
�<��9 "��8��� ����"� 


21



� � � � �1
18

2
18

4
18

4
18

7
18

3
18b1

�

�

7
18b2

�
���

��

� 
 & ���+�& �

�
�

�
�

�
�

��

�
�

�
��

���� �� ������ �������� 	���� ��� 
�����



� � � � �1
18

2
18

4
18

4
18

7
18

3
18b1

�

�

7
18

b2

�

�

�
�
�
�
�
�
�
�
�
�
�
�
��

11
18

b3

1b4

0

1

0

1

0

1

0 1
� 
 & ���+�& �

�
�
�
�
�
�
�

�
�

��

�
�
�
�
�
�
�
�
�
�

�
�

��

�
�
�

�
�

��
�

�
�

�
�

���� �� ������ ��������

�� %���")#!� �����(�9 � ��&�!� 4��#��
 ��!��
� �� �!��� ���*���#O
�� ��%� 2 !� ��!���&� ��&#!� �� �� �%7��#;�� ��&�"�� � �����(�9 J
�����"��

� �����)� ���7��# ���) �� 
���# ����"� " "��8���� �!�6;�6 ��!��.

�9 %�!"�& �&'�"��� A� � "���%�"�# "%� ��!��
� �� �� =��! ����� !�
��&�*�! 
���"�� %&�"� �&# =�� � %�!"�&��

� ��8�! ���!��� 
��� +���� ��
�!�$
%�!"�& J 
��
� J 0�

 J 10�
& J 110�
���+�& J 1110�
� J 1111.

22



-�
���(� *��"����9 8� �*�"����$ 
�� �%7���� � %��+;���# 3
�&
�
�&� 
�&�
�&�5� %�%��"&����9 % �%��&)��"����! ��%�������9 
���"�9
��+&�(�� �%�)

10011011100100110011101001001001101111.

�&��� 
���"�9 %���
� L = 39.
4� ��%������6 
��� I�''!��� &� 
� �"����)� *�� �� #"&#��%# ���.

'�
%��!$ �� ���� ���) �� 
���# 
 "��8��� �� ���7���� *���� ��� �6
"��8����

N�!���!� *�� ���������*��%�) "�+��� ���� � �� ���7��#;�7 ��&�"
��� ��%������� ����"� I�''!���� � ��
<� %"�+��� ���!��
� �� ���
��%������� '��
(�� 
�����"���# ����*�6�� *�� 
�����"���� �&'�"���
=��! %��%�+�! �� #"&#��%# �������*�� ������&����9 ���(�����9� �&#
����+����� � "�8� ���!��� !�<�� ��%�����) � ��� �� ����"B� ���+��.
<����c �� ��%� ��

� � � � �1
18

2
18

4
18

4
18

7
18

3
18b1

�

�

7
18

b2

�
��

�
��

�
��

1

0
1

0 1

�	
	
	
	
		

�
�

�
�

��

0 1

11
18b3

�
�
�
�
�
��

�
�

�
�

�

�b4

0

� 
 & ���+�& �














���� �� ������ ��������

� =��! %&�*�� 
��� %���"��%�"�6;�9 ����"�� ���+��<����!� �� ��%� ��
+���� %&���6;�!$

%�!"�& J 
��
� J 00�

 J 01�
& J 10�
���+�& J 110�
� J 111.

*�� ���"���� 
 ��� �!� 
��� �%7���� � %��+;���#$

010010110000100100011001001000010010111.

2�



Q � �&��� ��<� 39 J =��� "��+;�  �"��#� %�"�������� �� ��
&������
!�<�� +��) &�8) �����*���&)��!�

4�%*����! ��'��!�(�����6 �!
�%�) 
���� %���"��%�"�6;� � ����.
"� �� ��%� 2$ �&��� �%7���� � %��+;���# N = 18� �&��� 
��� L = 39 +�.
��"� 4� '��!�&� K��L ���&)��# ��'��!�(�����# �!
�%�) �&'�"��� A %
��%�����&����! P �%�)

I0(A) =
8
18

∗ log2
18
4

+
1
18

∗ log2
18
1

+
7
18

∗ log2
18
7

+
2
18

∗ log2
18
2

= 2.1 +���.

F��
� �����# ��'��!�(�� ����%
���"���� *�� " %�����! K% �*���!
"���#���%�� ��#"&���#L �&��� 
�<�� � 
���"� � %&�"� ��� &6+�! %��.
%�+� 
�����"���# =�� � ��
%�� �� !�<�� +��) !��)8� /�� �"��*��7
(�'��

F%��&)��# '��!�&� K�
L� ��%*����! ��+���*��%�) 
��� " ��8�! ���.
!���

Z = 1 − N

L
∗ I0(A) = 1 − 18

39
∗ 2.1 = 0.03,

�� �� ��%�������9 
�� ��+���*�� "%� � �� 1 m� K4��"��)�� �&# ��%
�&).

�7 ��� �7 ��� �� %�%��"&����7 
���"� *�� �7 ��+���*��%�) +���� +�&).
8��L

4��"������� ��%*��� �&&6%�����6� ������ ��"��<������ *�� 
��
I�''!��� #"&#��%# ����!�&)��! " �����! 
&�%%� !�����" 
�����"�.
��#� �� �� � � ��+���*��%�) ���+�&�� +&��
� 
 ��&6� F������"�� =��
!�<�� �+M#%���) ��!� *�� *�! *�;� "%���*�6�%# %�!"�&�� ��! +�&��

����
�� 
��� �&# ��7 %���#�%# K��
 
�
 ��� "
&6*�6�%# " ����"�
I�''!��� �� "%� +�&�� ������7 %����#7L �� %*�� �� �� *�� +�&�� ���.

�! %�!"�&�! "��!�<�� �����%��) +�&�� �&����� 
���� A��� �� ��
�.
����&)%"� =�� � '�
�� "�7���� �� ��!
� ��8� � 
��%��

Q;� ���� "����%� �!�6;�9 ���
��*�%
�� ���*���� ��� ���&���(��
=�� � !�����$ ��%
�&)
� �&����! !�<�� �
����)%# 
���"�� %&�"�g K:��
"�<�� �&# �(��
� ���!���" ��"���!�9 ��!#���L D�"�� �� =��� "����%�
�� ���"�9 "� &#�� ���<������9�

 !-" B�
�� ������)� ����� � �
���
 >������� �)	��
�
��
��	������� ���
	�� �
�
���0��)� �
��� C
%�����
2 �	
���&
����;
)� ��
�1 ������)� �
�����

��
� �&# 
�����"���# ��
%�� ���!���! 1�+ 
���"�� %&�"� �� +����
���"�8��) 1/ +���" �&� � !�8���� � %&�"�� :��� ����&)��� ����#!�6
%&����� �� ��
����!� � '�
��� *�� ��� �������9 �&��� ��
%�� N ���.
+�&)8�# "�%��� ����"� I�''!��� "����
��� �� ��� 
� �� *�%&���&�

2�



*�%��� " =
%����!����&)��! ��%�����&���� �+����6� ��*�&� ��%&���.
"���&)��%�� H�+���**��

����� I�''!��� ���#�� % ��� �!� !�����!� 
�����"���# �%��&).
����%# " %�"��!����7 %�%��!�7 %<���# ��'��!�(��� ��&) =�� � ���.
%���# J �� %�%��!���*�%
�� ��&�<���� ������ �� "���#���%�� � 
�.
����"���6� � ���+7���!�9 !���!�! �����9� ��<��9 �&# ����%���#
�*�+��.��!��%���(�����7 ��� ��!! �� ��7�"�(���

2C



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (None)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
    /Arial-Black
    /Arial-BlackItalic
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialUnicodeMS
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Impact
    /LucidaConsole
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanMT-ExtraBold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 300
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /Description <<
    /JPN <FEFF3053306e8a2d5b9a306f300130d330b830cd30b9658766f8306e8868793a304a3088307353705237306b90693057305f00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /FRA <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [1200 1200]
  /PageSize [595.276 841.890]
>> setpagedevice


